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1 History

INDUS VALLEY CIVILIZATION IN INDIA

e The Indus Valley Civilization was an ancient
civilization thriving along the Indus River & the
Ghaggar-Hakra River in what is now Pakistan & north-
western India.

e According to radio-carbon dating, it spread from the
year 2500 - 1750 BC.

e Dayaram Sahni first discovered Harappa (on Ravi) in
1921. R.D. Banerjee discovered Mohenjodaro or
‘Mound of the Dead” (on Indus) in 1922. Sir John
Marshal played a crucial role in both these.

e Harappan Civilization forms part of the proto history
of India & belongs to the Bronze Age.

e Copper, bronze, silver, gold were known but not iron.

¢ The Indus-Valley people were well-acquainted with the
use both of cotton & wool.

Domestication of animals:

e Stock breeding was important in Indus culture. Besides
sheep & goats, dogs, humped cattle, buffalo & elephant
was certainly domesticated. The camel was rare & horse
was not known.

Town Planning;

e Elaborate town-planning. It followed the Grid System.
Roads were well cut, dividing the town into large
rectangular or square blocks.

e Used burnt bricks of good quality as the building
material. Elsewhere in the contemporary world, mud-
bricks were used.

e In Mohenjodaro, a big public bath (Great Bath)
measuring 12 m by 7 m & 2.4 m deep, has been found.
Steps led from either end to the surface, with changing
rooms alongside. It was probably used for ritual
bathing.

e Underground Drainage System.

Major Cities & Their Features:

e Mohenjodaro (Sind) is situated on the right bank of the
Indus. Great Granary, Great bath, Assembly halls, Shell
strips, Pashupati Mahadev/Proto Shiva(Seal), Bronze
image of Dancing girl, Steatite image of Bearded man,
Clay figure of Mother goddess found in Mohenjodaro.

e Chanhudaro lies on the left bank of the Indus about 130
km south of Mohenjodaro. City without a citadel,
Inkpot, Imprints of dog’s paw on Brick, Terracotta
model of a bullock cart, Bronze toy cart are important
archeological findings of Chanhudaro.

e Kalibangan (Rajasthan) was on the banks of the river
Ghaggar which dried up centuries ago. Ploughed field
surface, 7 Fire alters, decorated bricks, wheels of a toy

cart, Mesopotamian cylindrical seal are found in
Kalibangan.

e Lothalis at the head of the Gulf of Cambay. Important
excavations are Dockyard, Fire alters, Terracotta
figurine of Horses, Double Burial, Terracotta Model of
a ship, Dying vat, Persian/Iranian seal, Painted Jar(Bird
And Fox).

e Banawali (Haryana) was situated on the banks of the
now extinct Saraswati River. Important features of
Lothal are lack of grid pattern town planning, lack of
systematic drainage pattern, Toy Plough, Clay figures
of Mother Goddess.

e Surkotoda (Gujarat) is at the head of the Rann of Kutch.
Important archeological excavations are Bones of
Horse, Oval Graves and Pot Burials.

e Dholavira (Gujarat) excavated is in the Kutch district.
Bronze Images (Charioteer with Chariot, ox, elephant
and rhinoceros) are important excavations.

Trade & Commerce in Indus Valley Civilization:

e There was no metallic money in circulation & trade was
carried through Barter System.

e  Weights & measures of accuracy existed in Harappan
culture (found at Lothal). The weights were made of
limestone, steatite, etc. & were generally cubical in
shape.

e 16 was the unit of measurement (16, 64,160, 320).

e A dockyard has been discovered at Lothal. Rangpur,
Somnath & Balakot functioned as seaports.
Sutkagendor & Sutkakoh functioned as outlets.

Indus Valley Civilization Script:

e The script is not alphabetical but pictographic (about
600 undeciphered pictographs).

e  The script has not been deciphered so far, but overlaps
of letters show that it was written from right to left in
the first line & left to right in the second line. This style
is called “Boustrophedon’.

VEDIC CULTURE (1500 BC-600 BC)

The Vedic Civilization was the culture and traditions of the
society prevalent during the Vedic age (1500- 600 BCE).

Vedic Literature:

The term Veda means “superior knowledge” in Sanskrit.
Four major Vedas constitute the vedic literature. They are -
Rig Veda, Yajur Veda, Sam Veda, and Atharva Veda.

Rig Veda - Earliest veda. Has 1028 hymns in praise Gods.
Yajur Veda - Has details of rules to be followed during
sacrifices

ama Veda - Has a collection of songs. The origins of Indian
music are traced to it.
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Third Anglo-Mysore War (1790- 92 A.D) — Fought between
the English & Tipu Sultan (Son of Hyder Ali). Tipu Sultan
was compelled to sign the Treaty of Seringapatam.

Fourth Anglo-Mysore War (1799 A.D) — The British forces
(Under Arthur Wellesley) defeated & killed Tipu Sultan.

Second Anglo-Maratha War (1803-1805 A.D)—Fought
between English & the Marathas. British defeated Marathas
& annexed Tanjore, Surat & Carnatic.

Third Anglo-Maratha War (1817-1818 A.D)- Fought
between English (Governor General Hastings) & the
Marathas. British defeated Marathas.Formal end of the
Maratha empire.

First Battle of Tarain (1191)-This battle was fought at
Tarain near Thaneswar. Prithviraj of Chauhan Dynasty
defeated the Mohammad of Ghori.

Second Battle of Tarain(1192)-It was fought at same Tarain
battlefield as in the first Tarain battle. This was fought by
Mohammad Ghori against Prithvi Raj Chauhan. This time
Prithvi Raj was defeated.

Battle of Khanwa(17 March 1527)--Rajputs under Rana of
Mewar Rana Sanga, were defeated by Babur of Farghana.
Rana Sanga was brutally wounded in the battlefield.

Battle of Chausa (7 June 1539)--Sher Shah defeated the
Mughals, but Humayun, the king escaped by crossing over
the river.

Battle of Kanauj (17 May 1540)--Sher Shah won against
Humayun. Occupied only Agra city.

Battle of Panipat(5 November 1556)--Hem Chandra
Vikramaditya (Hemu) was defeated by Mughals under
Akbar.

Battle of Haldighati(1576)--This was started between
Akbar & Rana of Mewar Pratap. Mughals won. But Rana
did not accept Mughal sovereignty.

First Carnatic War(1745-48)--This war was fought by
British & French armies. French occupied Madras, later
returned it to British.

Second Carnatic War(1749-54)--French army under the of
Duplex fought with British & British won. In 1755 they
made a provisional treaty.

Third Carnatic War(1756-63)--In 1758 French occupied Fort
Saint David. But defeated at Wandiwash (1760). Britishers
Won.

Battle of Plassey (June-1757)--British Army under the
command of Robert Clive fought with Bengal Nawab Siraz-
ud-daula & British won & Mir Jafar was made Nawab.
Siraz-ud-daula was hanged.

Battle of Buxar(1764)--British army under the command of
Major Munro defeated the combined army of Mir Kasim
nawab of Bengal, Shuja-ud-daulah nawab of Awadh, Shah
Alam, Mughal emperor.

First Anglo-Burmese War (1824-1826) Fought between
English East India Company & Burma.Ended in a British
East India Company victory.

First Anglo-Afghan war (1839-42 A.D)- British defeated
Afghan ruler Dost Mohammad.

Battle of Chillianwala (1849 A.D)— English East India
Company under Lord Hugh Gough defeated the Sikhs
(under Sher Singh).

Exercise
1. The Arthashastra was written by 5. From which monument, Gautama Buddha propagated
(a) Chanakya (b) Kalidasa his divine knowledge of Buddhism to the world?
(c) Harsha Vardhana  (d) Vatsyayana (a) Humayun's Tomb  (b) Sarnath Stupa
2. Who wrote the Panchatantra? (c) Qutub Minar (d) Red Fort Complex
(a) Vyasa (b) Vishnu Sharma 6. Alexander the Great wasbornin__ .
(c) Valmiki (d) Yajnavalkya (a) 356 BC (b) 189 BC
3. Alexander defeated in the battle of (c) 189 AD (d) 356 AD
Hydaspes. 7. Oil paint was first used for Buddhist paintings by
(a) Porus Indian and Chinese painters in western sometime
(b) Chank(i}ragupta Maurya between the fifth and tenth centuries.
(c) Herakles (a) Iraq (b) Afghanistan
(d) Eudemus . .
. . . . . . (c) Pakistan (d) India
4. Ramcharitmanas is an epic poem written in which . .
language? 8. Kalinga War was foughtintheyear
. (a) 1604 BC (b) 261 BC
(a) Santali (b) Munda 731 AD 41113 AD
(c) Awadhi (d) Sanskrit () (d)
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10.

11.

12.

13.
14.
15.

16.

17.

18.

19.

20.

21.
22.

23.

Chandragupta Maurya was born in

(a) 340 BC (b) 563 BC

(c) 189 BC (d) 99 BC

Ashoka was an emperor of the Dynasty.

(a) Mughal (b) Chola

(c) Maurya (d) Gupta

Who built the Group of Monuments at
Mahabalipuram?

(a) Chola Kings (b) Pallava Kings

(c) Chera Kings (d) Chalukya Kings

Bimbisara was the king of which dynasty?

(a) Haryanka (b) Maurya

(c) Shunga (d) Nanda

Ajanta Caves in Maharashtra have rock-cut cave
monuments of which religion?

(a) Sikhism (b) Buddhism

(c) Christianity (d) Hinduism

Whose reign in Indian History is called the Golden Age
of India?

(a) Mughal Empire (b) Maratha Empire

(c) Gupta Empire (d) Maurya Empire

The Buddha has been eulogized as an ocean of wisdom
and compassion in

(a) Buddha-Charita

(c) Amarakosha
Tripitakas are related to
(a) Buddhism (b) Jainism

(c) Hinduism (d) Zoroastrians

The Digambaras and Shvetambaras differ primarily
with regard to their

(b) Jataka tales
(d) The Light of Aisa

24.

25.

26.

27.

28.

29.

30.

(c) Akbar

(d) Kautilya

What is the name of the preaching mudra or gesture, in
which the Buddha is depicted delivering his first
sermon, in the Gandhara Sculptures?

(a) Abhaya (b) Dharmachakra

(c) Dhyana (d) Bhumisparsha
Chandragupta Maurya was born in Pataliputra, which
is now in

(a) Chattisgarh (b) Madhya Pradesh

(c) Uttar Pradesh (d) Bihar

Ghatotkacha (who ruled in the years 290-305 B.C.) was
a king from which dynasty?

(a) Gupta Dynasty (b) Kanva Dynasty

(c) Shunga Dynasty (d) Maurya Dynasty

Indus Valley Civilization was a age
civilization.

(a) Silver (b) Tin

(c) Gold (d) Bronze

Which among the following games was very popular in
ancient India?

(@) Chess (b) Cricket

(c) Hockey (d) Football

Ashoka The Great (273-232 B.C.) was the ruler of which
dynasty?

(a) Mewar (b) Mughal

(c) Maurya (d) Peshwas

The first Buddhist Council was held at

(a) Kashmir (b) Rajagriha

(c) Pataliputra (d) Vaisali

(a) Choice of god 31. Who was the founder of the Satvahana Empire?

(b) Totally different philosphy (a) Kanha T - .

(<) Dress (c) Hala (d) Gau’Far.r%lpu.tra .

(d) Rituals 32. The people of the Indus valley civilisation worshipped

When did the first Huna invasion take place? (a) Vishnu ’ (b) Pashupati

(a) 358 AD (b) 458 AD (c) Indra (d) Brahma

(c) 558 AD (d) 658 AD ) 33. The Upanishads are the

Chandragupta (322-298 BC) was the ruler of which (a) Great Epics

dynasty? (b) Story Books

(a) Maurya (b) Mewar (c) Source of Hindu Philosophy

(c) Mughal (d) Peshwas (d) Law Books

Ajatashatru was the son of 34. Gandhara Art is the combination of -

(a) Brahmadatta (b) Bindusara (a) Indo - Roman (b) Indo - Greek

(c) Bimbisara (d) Chetaka (c) Indo - Islamic (d) Indo - China

Ashoka converted to which religion after the Kalinga | 35 The earliest reference to sati custom is made in which

war? of the following inscriptions?

(a) Jainism (b) Buddhism (a) Allahabad Pillar inscription

(c) Christianity (d) Judaism (b) Eran inscription of Bhanugupta

Chandragupta Maurya was an ardent follower of (c) Aihole inscription of Pulkesin IT

- . (d) Bhitan inscription of Skandgupta

(a) Sikhism (b) Jainism 36. Which of the following is not true about Ajanta Caves?

(c) Buddhism (d) Jewism (a) They are in Maharashtra

Chanakya was the chief advisor of (b) They are decorated with Buddhist Art

(a) Babur (c) They depict the techniques used in Ancient India

(b) Chandragupta Maurya (d) They do not contain paintings of flora and fauna
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150. Gandhiji's 'Satyagraha' meant an attachment to the

following two elements -
(a) Knowledge and religion

1. (a);

2. (b);
3. (a);
4. (o)

G-39

(c) Truth and chastity
(d) Love of motherland and hate for colonial masters

(b) Truth and non-violence

]

Solutions

B

The Arthashastra is the title of
a handbook for running an
empire, written by Kautilya
(also known as Chanakya, c.
350-275 BCE) an Indian
statesman and philosopher,
chief advisor and Prime
Minister of the Indian
Emperor Chandragupta, the
first ruler of the Mauryan
Empire.

Vishnu Sharma
Panchatantra
Alexander defeated Porus in
the battle of Hydaspes.
Ramcharitmanas is an epic
poem wriiten in Awadhi
language

Gautam Buddha delivered his
first sermon to five disciples at

wrote

Sarnath. Sarnath ~ Stupa
monument is built on site
where Gautama  Buddha
propagated his divine

knowledge of Buddhism to
the world

Alexander III of Macedon
commonly known as
Alexander the Great. He was
born in Pella in 356 BC and
succeeded his father Philip II
to the throne at the age of
twenty

Oil paint was first used for
Buddhist paintings by Indian
and Chinese painters in
western Afghanistan
sometime between the fifth
and tenth centuries

The Kalinga War (262 - 261
BCE) was fought between the
Maurya Empire under Ashoka
and the state of Kalinga, an
independent feudal kingdom
located on the east coast, in the
present-day state of Odisha
north of Andhra Pradesh
Chandragupta Maurya was
born in 340 BC in Pataliputra,
in modern-day Bihar. His

10. (o);

11 (b);

12. (a);

13. (b);

14. (c);

background is, however,
uncertain. Some claim that he
was born to a Nanda prince
and his maid-servant, Mura,
from the Shudra caste, while
others state that he belonged
to the Moriya tribe of Peacock-
tamers

Ashoka was an Indian
emperor of the Maurya
Dynasty, who ruled almost all
of the Indian subcontinent
from c. 268 to 232 BCE
Mahabalipuram is the ancient
sea port of the famous Pallava
kingdom. According to the
inscriptions, the monuments
of = Mahabalipuram  was
constructed by Pallava kings
Mahendravarman I (600 to 630
AD), his son
Narasimhavarman I (630 to
668 AD) and their
descendants.

Bimbisara (ruled 544-491
B.CE.) was a king of the
Magadha empire and
belonged to  Haryanaka
dynasty, which ruled until
approximately 326 B.C.E.
when Alexander the Great
invaded India. He ruled an
area of what is now Bihar and
Bengal with his capital at
modern day Rajgir

The Ajanta Caves are a series
of 29 Buddhist cave temples in
Ajanta, India, some of which
date from the 2nd century BC.

Encompassing both
Theravada and Mahayana
Buddhist traditions, the

Ajanta caves preserve some of
the best masterpieces of
Buddhist art in India

The Gupta Empire stretched
across northern, central and
parts of southern India
between c. 320 and 550 CE.
The time of the Gupta Empire

15.

16.

17.

18.

19.

20.

21.

22.

23.

is referred to as Golden Age of
India in science, mathematics,
astronomy, religion and
philosophy

Buddha has been eulogized as
an Ocean of Wisdom and
Compassion in Amarkosha.
The  Amarakosha is a
thesaurus of Sanskrit written
by the ancient Indian scholar
Amarasimha

The Tripitakas are
books for Buddhists
Digambara monks do not
wear any clothes. Svetambara
"white-clad" is a term
describing its ascetics practice
of wearing white clothes

First Huna invasion take place
in 458 AD

Chandragupta Maurya (reign:
322-298 BCE) was the founder
of the Maurya Empire in
ancient India.

Ajatashatru was a king of the
Haryanka dynasty of
Magadha in North India. He
was the son of King Bimbisara
and was a contemporary of
both Mahavira and Gautama
Buddha

Ashoka conerted to Buddhism
after Kalinga war
Chandragupta Maurya was
the founder of the Mauryan
empire. He succeeded in
conquering most of the Indian
subcontinent. With  his
accession to the throne Janism
assumed a new phase in the
Indian history

Chanakya was an Indian
teacher, philosopher,
economist, jurist and royal
advisor. He is traditionally
identified as Kautilya or
Vishnugupta, who authored
the ancient Indian political
treatise, the Arthashastra

sacred
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2 Geography

Solar System
Our Sun (a star) and all the planets around it are part of a
galaxy known as the Milky Way Galaxy. A galaxy is a large
group of stars, gas, and dust bound together by gravity.
They come in a variety of shapes and sizes. The Milky Way
is a large barred spiral galaxy. The Milky Way is the galaxy
that contains our Solar System.
Earth solar system consists of:
* The Sun
* The Planets (8 Planets)
¢ Dwarf Planets such as Pluto, Ceres, Eris etc. & countless
fragments of left - overs called asteroids, meteors,
comets & satellites of the planets (called small solar
system Bodies).

Some Facts about Solar System

* Biggest Planet Jupiter

* Smallest Planet Mercury

* Nearest Planet to Sun Mercury

* Farthest Planet from Sun Neptune

* Nearest Planet to Earth Venus

* Brightest Planet Venus

*  Brightest star after Sun Sirius

* Planet with maximum Jupiter
satellites

* Coldest Planet Neptune

* Hottest Planet Venus

* Heaviest Planet Jupiter

* Red Planet Mars

* Biggest Satellite Ganymede

* Smallest Satellite Deimos

* Blue Planet Earth

* Morning/Evening Star Venus

* Earth's Twin Venus

*  Green Planet Neptune

* Planet with a big red spot Jupiter

* Greatest Diurnal Temperature : Mercury

Earth Latitude & Longitude

Earth Latitude

* Imaginary lines drawn parallel to the equator.
Measured as an angle whose apex is at the centre of
the earth.

* The equator represents 0° latitude, while the North Pole
is 90° N & the South Pole 90° S.Equator is the ‘Greatest
Circle’ that can be drawn on the earth’s surface.

* 23%° N represents Tropic of Cancer while 23%2° S
represents Tropic of Capricorn.

*  66'%2° N represents Arctic Circle while 66'2° S represents
Antarctic Circle.

* The distance between any two parallels of latitude is
always equal.
* 1 degree latitude = 111km(approx.).

Earth Longitude

* The lines of longitude are drawn as a series of
semicircles that extend from the North Pole to the
South Pole through the equator. They are also called
meridi

* The distance between any two meridians is not equal.

* At the equator, 1 degree = 111 km. At 30°N or S, it is
96.5 km. It goes on decreasing this way until it is zero at
the poles.

* There are 360 meridians of longitude. The prime
meridian is a longitude of 0°, passing through the Royal
Observatory at Greenwich near London.

* This meridian is taken by geographers to divide the
earth into the eastern & the western hemispheres.

* Each meridian of longitude is a semi-circle. 180°
meridian (International Date Line) lies exactly opposite
to 0° meridian. Such points are called Antipodal Points.
The earth is divided into 24 longitudinal zones, each
being 15° or 1 hour apart in time (4 minutes / degree).

Longitude & Time

* Places that are on the same meridian have the same
local (sun) time. Since the earth makes one complete
revolution of 360° in 24 hours, it passes through 15° in
one hour or 1° in 4 minutes.

* The earth rotates from west to east, hence places east of
Greenwich see the sun earlier & gain time whereas
places west of Greenwich see the sun later & lose time.

* India, whose longitudinal extent is approx. 30°, has
adopted only one time zone, selecting the 82.5°E for the
standard time which is 5 hours & 30 minute s
ahead of GMT (Greenwich Mean Time).

International Date Line

e It is the 180° meridian running over the Pacific Ocean,
deviating at Aleutian Islands, Fiji, Samoa & Gilbert
Islands. It is a zig-zag line.

* Travelers crossing the Date Line from west to east (i.e.,
from Japan to USA) repeat a day & travelers crossing it
from east to west (i.e., from USA to Japan) lose a day.

Important Parallels of Latitude

1. The Tropic of Cancer: It is in the northern hemisphere
at an angular distance of 23 1/2° (23°30°'N) from the
equator.

2. The Tropic of Capricorn :It is in the southern
hemisphere at an angular distance of 23 1/2° (23°30°S)
from the equator.

3. The Arctic Circle : It lies at a distance of 66 1/2°
(66°30°'N) north of the equator.
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38.
39.

Pink City - Jaipur
Gateway of India- Mumbai

Longest, Largest, Biggest, Smallest, Tallest and Highest

O PN WDN =

—
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14.
15.
16.
17.
18.
19.
20.

21.
22.
23.
24.
25.

Longest river (India) - Ganga

Longest river (World) - Nile

The longest tributary river of India - Yamuna
The longest river of the south -Godavari

Highest mountain peak -Godwin Austin (K2)
Largest lake (Fresh water)- Wular lake (Kashmir)
Highest Dam -Tehri Dam on Bhagirathi River
Largest Mosque - Jama Masjid, Delhi

Longest Road - Grand Trunk Road

. State with longest coastline- Gujarat
. Largest railway route - Dibrugarh in Asom to

Kannyakumari in Tamil Nadu

. Longest tunnel - Jawahar tunnel (Jammu & Kashmir)
. Longest national highway- NH-7 which runs from

Varanasi to Kanyakumari

Longest Dam - Hirakud Dam (Odisha)

Longest River Bridge - Mahatma Gandhi Setu, Patna
Largest Museum - National Museum, Kolkata

Largest Delta - Sunderban Delta, West Bengal

Largest Dome -Gol Gumbaz, Bijapur (Karnataka)
Largest Zoo- Zoological Gardens, Alipur, Kolkata
Largest man-made Lake- Govind Vallabh Pant Sagar
(Rihand Dam)

Largest Desert(India) - Thar (Rajasthan)

Smallest State (Area) - Goa

Smallest State (Population) - Sikkim

Highest Waterfall - Gersoppa waterfall(Karnataka)
Longest Electric railway line - From Delhi to Kolkata
via Patna

26.
27.

28.
29.

30.
31.
32.
33.
34.

35.
36.
37.
38.
39.
40.
41.
42,
43.
44.
45.

46.
47.
48.
50.
51.
52.

53.

Densest populated State - West Bengal
Largest cave temple - Kailash temple,
(Maharashtra)

Largest animal Fair - Sonepur (Bihar)

Highest Gateway - Buland Darwaza, Fatehpur Sikri
(Agra)

Biggest Hotel Oberal -Sharaton (Mumbai)

Largest State (Area) -Rajasthan

Largest State (Population) -Uttar Pradesh

Place of heaviest rainfall -Mawsynram (Meghalaya)
Largest corridor - Rameshwaram temple corridor
(Tamil Nadu)

Largest cantilever span bride-Howrah Bridge (Kolkata)
Largest forest state - Madhya Pradesh

Highest straight gravity Dam - Bhakra Dam

Longest Railway Platform - Kharagpur (West Bengal)
Highest Lake - Devatal (Garhwal)

Largest Lake (Saline water) - Chika lake, Orissa
Highest Civilian Award - Bharat Ratna

Highest Gallantry Award - Paramveer Chakra

Largest Gurudwara -Golden Temple, Amritsar
Deepest river valley - Bhagirathi & Alaknanda

State with longest coastline of South India - Andhra
Pradesh

Longest river which forms estuary -Narmada

Largest Church - Saint Cathedral (Goa)

Longest Beach -Marina Beach, Chennai

Highest Battle field - Siachin Glacier

Highest Airport - Leh (Laddakh)

Largest river island- Majuli (Brahmaputra river,
Assam)

Largest Planetarium- Birla Planetarium (Kolkata)

Ellora

Exercise
Which of the following is not an example of Point [ 4. The Tuirial Hydroelectric Power Project (HEPP) is
Source of pollution? located in which state?
(a) Oil refinery wastewater (a) Kerala (b) Mizoram
. . (c) Nagaland (d) Assam

(b) Noise from Jet engine o7 i i

. . . 5. A wide inlet of the sea usually concave in shape, is
(c) Air pollution from forest fire termed as a:
(d) Pollutants mixed in rainwater runoff (a) Strait ' (b) Sound
Among the following states, the literacy rate is highest (c) Bay (d) Fjord
in? 6. Punjab has a large number of inundation canals
(a) Orissa (b) Punjab drawing water from?
(c) Maharashtra (d) Mizoram (@) ]helurp river (b) Chen.ab‘ river
The dispute over Siachin Glacier is between - (c) Beas river i (d) Sutlej river

Indi 4 Chi 7. Sullage water is
(a) In 1'a an ma . (a) Waste water released from kitchen
(b) India and Afghanistan (b) Waste water released from toilets
(¢) India and Pakistan (c) Waste water released from factories
(d) India and Nepal (d) Waste water released from hospitals
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10.

11.

12.

13.

14.
15.
16.

17.

18.

19.

20.

21.

Continuous chain of mountains that rise abruptly more
or less parallel to the coastline of India is -

(a) Aravalli (b) Satpura

(c) Eastern ghats (d) Western ghats

The biggest reserves of Thorium arein ____.

(a) China (b) USA

(c) India (d) France

Why the Earth is having its own atmosphere ?
(a) Winds (b) Clouds

(c) Gravity (d) Rotation of the Earth

A level of atmosphere which is composed partly of
electrons and positive ions is called-

(a) Troposphere (b) Ionosphere

(c) Stratosphere (d) Mesosphere

The smallest island country in the Indian Ocean is?

(a) Maldives (b) Sri Lanka

(c) Mauritius (d) Madagascar

What is Damodar Valley Corporation?

(a) Statutory body

(b) Municipal Corporation looking after Damodar
Valley

(c) A private enterprise located in Bihar

(d) A non government organisation

Why is Carbon Monoxide a pollutant?

(a) Reacts with hemoglobin

(b) It inhibits glycolysis

(c) It reacts with Oxygen

(d) None of these

Why is Rann of Kutch of India famous for?
(a) Tidal and flats (b) Fertile soil

(c) Dense Vegetation  (d) All are correct

22.

23.

24,

25.

26.

27.

28.

29.

30.

The outermost range of Himalays is called____.
(a) Himadri (b) Shiwaliks

(c) Himachal (d) Kumaon

The longest river of peninsular India is

(a) Narmada (b) Godavari

(c) Mahanadi (d) Cauvery

The atomic power station in Rajasthan is situated at:
(a) Pokhran (b) Suratgarh

(c) Rawatbhata (d) Chittorgarh

Which of the following caused radioactive pollution
along the coast of Kerala?

(a) Plutonium (b) Zinc

(c) Thorium (d) Radium

Which of the following causes rainfall during winters
in the northwestern part of India?

(a) Western disturbances

(b) Cyclonic depression

(c) Southwest monsoon

(d) Retreating monsoon

Which country is separated from India by a narrow
channel of sea formed by the Palk Strait and the Gulf
of Mannar?

(a) Bangladesh (b) Myanmar

(c) Sri Lanka (d) Pakistan

Where do the Western and Eastern Ghats meet?

(a) Nilgiri hills (b) Cardamom hills
(c) Palani hills (d) Annamalai hills
The natural habitat of Rhinoceros in India is -
(a) Bharatpur (b) Gir forest

(c) Kaziranga (d) Nilgiris

India shares longest international boundary with
which country?

What is the position of the Earth when it is at the (a) Bangladesh (b) China
greatest distance from the sun? (c) Nepal (d) Bhutan
(a) Aphelion (b) Apogee 31. Tsangpo is the other name in Tibet for
(c) Perihelion (d) Perigee (a) Kosi (b) Gandak
Which of the following wind is blowing from the (c) Brahmaputra (d) Ganga
Mediterranean sea to the North Western parts of India? | 32. The largest herbarium of India is located at -
(a) Western disturbances (a) Kolkata (b) Lucknow
(b) Norwesters (c) Mumbeai (d) Coimbatore
(c) Loo 33. At Barren Island, the only active volcano in India is
(d) Mango showers situated in - ‘
Which layer of the earth's atmosphere contains the (a) Andaman Islands  (b) Nicobar Islands
ozone layer? (c) Lakshadweep (d) Minicoy
(a) Troposphere (b) Mesosphere 34. The transfer of minerals from top soil to subsoil
(c) Ionosphere (d) Stratosphere through soi.l-water is called? .
Where is the Great Barrier Reef located ? (a) Percol.atlon (b) Conducfaop
(a) Pacific Ocean (b) Indian Ocean (c) Leaching (d) Trar.lspl'ratlon
. . 35. The Kovvada Nuclear Park project is proposed to be
(c) Atlantic Ocean (d) Arctic Ocean )
. setup in which State?
Among the following States, has the lowest .
birth rate in India (a) Rajasthan (b) Uttar Pradesh
' (c) Andhra Pradesh (d) Karnataka

(a) Kerala (b) Uttar Pradesh .
() Bihar (d) West Bengal 36. Molten rock below the surface of the earth is called
The Secre'ztariat of SAARC is set up at M' (b) Laccolith
(a) Washington (b) Kathmandu

, (c) Lava (d) Magma
(c) Hague (d) New Delhi
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90.

91.

92.

93.

94.

95.

(a) lack of minerals
(b) unsuitable climatic conditions
(c) infertile land

(d) mountainous topography
Algal bloom results from -

(a) Global warming
(c) Eutrophication

widest continental shelf?
(a) Antarctic ocean
(c) Indian Ocean

Which is largest peninsular river in India?
(a) Krishna (b) Godavari
(c) Cauvery (d) Mahanadi

(a) Eastern Region only
(b) Southern Region only

(b) Salination
(d) Biomagnification
Among the world oceans, which ocean is having the

(b) Arctic Ocean
(d) Atlantic ocean

The polar regions are sparsely populated because of -

Red soil is normally found in India in which regions?

generation?

(a) Gujarat

(c) Haryana
97.

(c) Gangotri

(a) Sweden
(c) Germany

India?

(a) Indus

(c) Ganga
100.

(a) Chloro fluoro carbon(b) Methane
(c) Carbon dioxide

(d) Nitrous oxide

96. Which State of India is leading in solar energy

(b) Tamil Nadu
(d) Uttar Pradesh

Ganga is a result of confluence of rivers Bhagirathi and
Alakananda at which place?
(a) Deva Prayag

(b) Karan Prayag
(d) Rudra Prayag

98. Which country is known as 'Land of Midnight Sun'?

(b) Norway
(d) Finland

99. Which river basin is shared by more than 10 States of

(b) Brahmaputra
(d) Damodar

Which of the following is not a commercial source of

(c) Eastern & Southern part of the Deccan Plateau energy?
(d) None of these (a) Coal (b) Petroleum
Which of the following green house gases has the (c) Natural Gas (d) Firewood
greatest heat trapping ability?
‘ Solutions .
(d); A point source of pollutionisa | 7. (a); Sullage is all wastewater Constituent ~ Assembly  of
single identifiable source of generated in kitchen India.
air, water, thermal, noise or households or office buildings 14. (a); Carbon monoxide (CO) is a
light pollution. Oil refinery from streams without fecal colorless, odorless, tasteless,
waste water, noise from Jet contamination, i.e. all streams and toxic air pollutant. It is
engine and Air pollution from except for the waste water produced in the incomplete
forest fire are examples of from toilets. combustion of carbon-
point source of pollution. 8.  (d); Western ghats are continuous containing fuels, such as
(d); Mizoram with 91.5% literacy is chain of mountains that rise gasoline, natural gas, oil, coal,
the second most literate state abruptly more or less parallel and wood. Breathing the high
in India after Kerala with to the coastline of India. concentrations of CO leads to
93.91% literacy 9.  (c¢); The biggest estimated reserve reduced oxygen (O2) transport
(c); The Siachen conflict, of Thorium are in India. by hemoglobin.
sometimes referred to as the | 10. (c); An atmosphere, meaning is a | 15. (a); The Great Rann of Kutch is a
Siachen War, is a military layer of gases surrounding a salt marsh located in the Thar
conflict between India and planet or other material body, Desert in the Kutch District of
Pakistan over the disputed that is held in place by the Gujarat, India. It is famous for
Siachen Glacier region in gravity of that body. Earth also tidal and flats
Kashmir. has its own environment due | 16. (a); The aphelion is the point in the
(b); Tuirial dam is an earthfill and to gravity. orbit of an object where it is
gravity dam. Prime minister | 11. (b); Ionosphere is the layer of farthest from the Sun.
Narendra Modi inaugrated the atmosphere which is | 17. (a); A Western Disturbance is an
60MW Tuirial hydropower composed partly of electrons extratropical storm originating
project in Aizawal, Mizoram and positive ions. in the Mediterranean region
on 16th December 2017. 12. (a); The smallest island country in that brings sudden winter rain
(c); A wide inlet of the sea usually the Indian Ocean is Maldives. to the northwestern parts of
concave in shape, is termed as | 13. (a); Damodar Valley Corporation the Indian subcontinent.
a Bay. is a statutory body. The | 18. (d); About 90% of the ozone in the
(d); Punjab has a large number of corporation came into being Earth’s atmosphere is found in
inundation canals drawing on July 7, 1948 by an Act of the the region called the
water from Satluj river Stratosphere. This 1is the
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3

Polity

What is the minimum age required to become vice-
president of India?
(a) 30 years
(c) 40 years

(b) 35 years
(d) 37 years

Which of the following "writ" of the High Court or the
Supreme Court is issued to restrain a person from
holding a public office which he is not entitled to?

(a) Centiorari (b) Mandamus

(c) Prohibition (d) Quo Warranto

NITI Aayog has been formed to replace which of the
following institution?

(a) Planning Commission

(b) IRDA

(c) Department of Telecommunications (DoT)

(d) Department of Information Technology

How many fundamental Rights are mentioned in
Indian constitution?
(a) Five

(c) Seven

(b) Six
(d) Eight

Which of the following Article/Articles cannot be
suspended even during emergency?

(a) Article 19 (b) Article 20 and 21

(c) Article 22 and 23 (d) Article 24 and 25

In which year was Communist Party of India - Marxist
(CPI-M) founded?

(a) 1885 (b) 1980

(c) 1984 (d) 1964

Which Fundamental Right in the Indian Constitution
prohibits trafficking, forced labour, and children
working under 14 years of age?

(a) Right to Equality

(b) Right to Freedom

(c) Right against Exploitation

(d) Right to Freedom of Religion

In which year was Nationalist Congress Party (NCP)
founded?

(a) 1949 (b) 1999

(c) 1972 (d) 1997

Which Fundamental Right in the Indian Constitution
states that every person has the right to practice, profess
and propagate the religion of their choice.

(a) Right to Equality

(b) Right to Freedom

(c) Right against Exploitation

(

10.

11.

12.

13.

14.

15.

Whose recommendation is mandatory to impeach the
President of India from his office before the completion
of his/her term?

(a)The Prime Minister

(b)The Speaker of the LokSabha

(c) The Chief Justice of India

(d) Two houses of the parliament

How many types of writ are there in the Indian
Constitution?
()5
()3

(b)4
(d)2

Which of the following is not included in the Directive
Principles of State Policy?

(a) Prohibition of Liquor

(b) Right to Work

(c) Equal Wage for Equal Work

(d) Right to Information

How many Fundamental Duties are mentioned in
Indian constitution?

(a) Five (b) Seven

(c) Nine (d) Eleven

Part IV of constitution of India deals with which of the
following?

(a) The Union

(b) The States

(c) Fundamental Rights
(d) Directive Principles of State Policy

In Indian constitution, the method of election of
President has been taken from which country?

(a) Britain (b) USA

(c) Ireland (d) Australia

16.What is the literal meaning of the term "Quo-Warranto"?

17.

18.

(a) We command

(b) To forbid

(c) By what authority (or) warrant
(d) None of these

Who administers the oath of the President of India?
(a) Governor General of India

(b) Chief Justice of India

(c) Prime Minister of India

(d) Vice President of India

Who among the following gave monistic theory of
sovereignty?

1) Rich 1 ¢ Reliod (a) Austin (b) Darwin
) Right to Freedom of Religion (c) Aristotle (d) Marx
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4 Economics

10.

11.

Commercial banks lend to which of the following
Priority sectors?

(a) Heavy Industries

(b) Agriculture, Small scale industries

(c) Foreign Companies

(d) State government in emergency situation

What is the accounting year of the Reserve Bank of
India?

(a) April-March

(c) October-September

(b) July-June
(d) January-December

Among the following States, has the lowest
birth rate in India.
(a) Kerala

(c) Bihar

(b) Uttar Pradesh
(d) West Bengal

The Secretariat of SAARC is set up at
(a) Washington (b) Kathmandu
(c) Hague (d) New Delhi

'Residex' is associated with :
(a) Share prices
(c) Mutual fund prices

(b) Price inflation
(d) Land prices

Money market is a market for .
(a) Short term fund (b) Long term fund
(c) Negotiable instruments (d) Sale of shares

Which institution is known as 'Soft Loan Window' of
World Bank?
(a) IDBI
(c) IMF

(b) IDA
(d) RBI

. Which curve shows the inverse relationship between

unemployment and inflation rates -
(a) Supply curve (b) Indifference curve
(c) IS curve (d) Phillips curve

Special Drawing Rights were created by -
(a) IBRD (b) ADB
(c) IMF (d) WTO

In which of the following States India's first Green Rail
Corridor was launched in -
(a) Karnataka

(c) Himachal Pradesh

(b) Maharashtra
(d) Tamil Nadu

Which place is said to be the Manchester of South
India?

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

When the demand for a good increase with an increase
in income, such a good is called

(a) Superior good (b) Giffin good

(c) Inferior good (d) Normal good

MUDRA Bank has been launched to help
(a) Small business (b) Marginal farmers
(c) Poor women (d) Rural sector

Which of the following controls the insurance business
of India?
(a) RBI
(c) SEBI

(b) IDBI
(d) IRDA

Which State Government has abolished "agriculture
income tax" on plantation companies.

(a) Karnataka (b) Rajasthan

(c) Bihar (d) Asssam

Which of the following is not a method of estimating
national income?

(a) Expenditure method
(c) Matrix method

(b) Output method
(d) Income method

Which of the following taxes is levied by the State
Government only?
(a) Wealth tax
(c) Income tax

(b) Entertainment tax
(d) Corporate tax

HDI is an aggregate measure of progress in which of
the three dimensions?

(a) Health, Education, Income

(b) Food Security, Employment, Income

(c) Agriculture, Industry, Services

(d) Height, Weight, Colour

The operational period of 12th Five Year Plan is -
(a) 2007-12 (b) 2012-17
(c) 2015-20 (d) 2005-10

What is an octroi?
(a) Tax
(c) Tax processing centre

(b) Tax collection centre
(d) Tax information centre

Swarna Jayanti Gram Swarojgar Yojna has now been
restructured as

(a) Prime Minister's Rojgar Yojna

(b) National Rural Livelihoods Mission

(c) Jawahar Gram Samriddhi Yojana

(d) Sampoorna Gramin Rojgar Yojana

Which of the following is not a commercial source of

?
(a) Coimbatore (b) Salem ?:)eé%};i (b) Petroleum
(c) Thanjavur (d) Madurai (c) Natural Gas (d) Firewood
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Science

10.

11.

12.

What is the minimum distance (in metres) required to
hear an echo?
(a) 10
()17

(b) 13
(d) 21

Why does a Black board appears black in colour?

(a) It reflects black colour  (b) It absorbs black colour
(c) It reflects all colours (d) It absorbs all the
colours

Which of the following instrument is used to measure
Soil Water Tension?
(a) Photometer

(c) Psychrometer

(b) Pyrometer

(d) Tensiometer

What is the SI unit of Force?
(a) Pascal
(c) Newton

(b) Boyle
(d) Watt

Which one of the following is a bad Thermal
Conductor?
(@) Aluminium
(c) Glass

(b) Copper
(d) Silver

Who invented first working laser?
(a) A. H. Taylor (b) W. K. Roentgen
(c) T. H. Maiman (d) Fred Morrission

Meter in a vehicle that calculates distance covered by
the vehicle is called
(a) Speedometer
(c) Thermometer

(b) Odometer
(d) Kilometre

What is the SI unit of pressure?

(a) Newton (b) Weber

(c) Pascal (d) Henry

Reflection from a smooth surface like that of a mirror is
called reflection.

(a) Regular (b) Irregular

(c) Diffused (d) Fused

What is the unit of resistance?

(a) Ohm (b) Farad

(c) Henry (d) Weber

Gravitational force is maximum at which of the
following place?

(a) At equator

(c) At tropic of Capricorn

(b) At tropic of cancer
(d) At poles

Which of the following device is used to measure
humidity?

(a) Hydrometer
(c) Psycho Meter

(b) Hygrometer
(d) Anemometer

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Which of the following is not a vector quantity?
(a) Momentum (b) Displacement
(c) Torque (d) Speed

At what temperature (in Fahrenheit) pure water
freezes?
(@) 32
(c) 48

(b) 0
(d) 37

What is the other name of Galileo's law of falling
bodies?
(a) Law of motion (b) Newton's first law

(c) Newton's second law  (d) Newton's third law

Which of the following device is best suited for

measuring the temperature inside metallurgical
furnaces?

(a) Pyrometer (b) Thermocouple

(c) Thermometer (d) Thermistor

In a qualitative way, the tendency of undisturbed
objects to stay at rest or to keep moving with the same
velocity is called
(a) Force

(c) Friction

(b)Acceleration
(d) Inertia

The time taken by a pendulum to complete one
oscillation is called its?
(@) Maximum speed
(c) Time period

(b) Average speed
(d) Time interval

If the mass of an object is 60 kgs, what will be its weight
on the moon? (N=Newton)
(a) 60N

(c) 100N

(b) 600N
(d) 10N

The side mirrors of vehicles are of which type of
mirrors?

(a) Convex (b) Concave
(c) Plane (d) Inverted
Haematite is an ore/mineral of

(a) Zinc (b) Iron

(c) Lead (d) Manganese

Which among the following is false about alpha
particles?

(a) They have high ionizing power

(b) They have high penetrating power

(c) They have high kinetic energy

(d) They are positively charged heliu m nuclei
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F;a Traditional General Knowledge

NATIONAL /INTERNATIONAL YEARS

2001 Year of Woman Empowerment (Govt. of India)

2002 International Year of Mountain (by FAQ)

2003 International Fresh Water Year

2004 International Year of Rice

2005 International Year of Physics/Sports (by UNO)

2006 International Year of Deserts and Desertification

2007 International Polar Year, Year of the Dolphin

2008 International Year of Sanitation, International Year of Languages
2009 International Year of Astronomy (UN)

International Year of Natural Fibers (FAQ)
International Year of Reconciliation

2010 International Year of Biodiversity
International Year of Youth
2011 International Year of Forests
International Year of Chemistry
2012 International year of Cooperatives
2013 International Year of Water Cooperation
2014 International Year of Small Island Developing States
International Year of Solidarity with the Palestinian People
2015 International Year of Light and Light-based Technologies
2016 International Year of Pulses
2017 International Year of Sustainable Tourism for Development
2018 the United Nations has not declared 2018 as International Year for any specific topic.
2019 International Year of Indigenous Languages
International Year of the Periodic Table of Chemical Elements
2020 International Year for Plant health
2021 International Year of Creative Economy for Sustainable Development
2022 International Year of Artisanal Fisheries and Aquaculture
THE FIRST’S
The first person to reach Mount Everest Sherpa Tenzing, Edmund Hillary
The first person to reach North Pole Robert Peary
The first person to reach South Pole Amundsen
The first religion of the world Hinduism
The first country to print book China
The first country to issue paper currency China
The first country to commence competitive
examination in civil services China
The first President of the U.S.A. George Washington
The first Prime Minister of Britain Robert Walpole
The first Governor General of the United Nations Trigveli (Norway)
The first country to win football World cup Uruguay
The first country to prepare a constitution US.A.
The first Governor General of Pakistan Mohd. Ali Jinnah
The first country to host NAM summit Belgrade (Yugoslavia)
The first European to attack India Alexander, The Great
The first European to reach China Marco Polo
The first person to fly Aeroplane Wright Brothers
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Miscellaneous Exercise

10.

13.

14.

Who is considered as ‘“Trimurti’ (Trinity) of Carnatic
Music?

(a) Muthuswami Dikshitar

(b) Thyagaraja

(c) Swami Thirunal

(d) Purandardsa

Amjad All Khan is associated with which of the
following musical instruments?

(a) Violin (b) Sitar

(c) Sarod (d) Veena
Chandigarh was designed by

(a) Le Corbusier (b) Edward Lutyens
(c) Christopher Wren  (d) Michelongo

Jamini Roy is a famous

(a) Dancer (b) Magician

(c) Cartoonist (d) Painter

With which of the following was Satyajit Ray
associated?

(a) Commercial art (b) Classical music

(c) Classical dance (d) Direction of films

Pablo Picasso, the famous painter was

(a) French (b) Italian

(c) Flemish (d) Spanish

Bachendri Pal became famous for her grand success in
the field of:

15.

16.

17.

18.

19.

20.

Jaspal Rana is the name associated with which of the
following games.

(a) Weight lifting (b) Archery

(c) Boxing (d) Shooting

Hari Prasad Chaurasia is a renowned player of:
(a) Tabla (b) Sarod

(c) Flute (d) Shehnai

Zakir Hussain is associated with which of the following
musical instruments?

(a) Tabla (b) Veena

(c) Sitar (d) Violin

Who discovered the X-rays?

(a) Ross Ronald (b) H. C. Urey

(c) W. K. Roentgen (d) G. Maroni

The first woman Governor of a state in free India was
(a) Mrs. Sarojini Naidu

(b) Mrs. Sucheta Kriplani

(c) Mrs. Indira Gandhi

(d) Mrs. Vijaya Lakshmi Pandit

The first President of India who make a sortie in the
Sukhoi fighter aircraft of the Indian Air Force is?

(a) A.P.J. Abdul Kalam

(b) Smit. Pratibha Patil

(c) K.R. Narayanan

(d) Dr. Shankar Dayal Sharma

(a) Athletics skiing (b) Swimming 21. Eealaorrll Kt:)-moon, the former UNO Secretary-General
(c) Mountaineering (d) Journalism &%
. .. , (a) Saudi Arab (b) Egypt
Who is known as the “saint of the gutters’? .
B.R Ambedk b) Mother T (c) South Korea (d) Brazil

() B.R. Ambedkar . (b) Mother Teresa 22. Who among the following was thrice elected President
(c) Mahatma Ga?‘dhl (d)_Baba Amte . of the Indian National Congress?
Mallika Sarabhi is associated with which of the (a) Dadabhai Naoroji
followi.ng ﬁel(_iS? i . (b) Surendranath Banerjee
(a) Social service (b) Classical music (c) Gopal Krishna Gokhale
(c) Classical dance (d) Sports (d) Shankaran Nair
Baba Amte is famous asa............. 23. Who among the following was the first Speaker of the
(a) Painter (b) Singer Lok Sabha?
() Pc.)litician , (d) Social Worker ’ (a) M. A. Ayyangar

11. Who is known as the ‘Columbus of the Space Age’? (b) G. V. Mavalankar
(a) Mithali Raj (b) Yuri Gagarin (c) Sardar Hukam Singh
(c) Kalpana Chawla (d) Leela Seth (d) N. Sanjiva Reddy

12. The name ‘Indian National Congress” was given by- 24. Who was the first Indian to reach Antarctica?
(a) S. N. Banerjee (b) Feroz Shah Mehta (a) Rakesh Sharma (b) Ram Charan
(c) Dadabhai Naoroji ~ (d) M.G. Ranade (c) B.K. Dutta (d) K. Karuna Nautial
Bismillah Khan is associated with 25. The Chief Minister who remained in the office for the
(a) Tabla (b) Sarod longest period:
(c) Flute (d) Shehnai (a) Jyoti Basu (b) Lalu Prasad
Chandi Prasad Bhatt is a well known: (c) Mayawati (d) M. Karunanidhi
(a) Environmentalist and Social Activist 26. Name of S. Chandrashekhar is associated with which of
(b) Economist and Writer the following subjects?
(c) Painter (a) Cosmology (b) Chemistry
(d) Classical Hindustani Vocalist (c) Fluid Mechanics (d) Astrophysics
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Puzzles

Directions (1-5): Read the following information’s carefully
and answer the questions given below:

Eight authors Stephen, George, Nicholas, Gillian, Michael,
Laura, Dennis and Suzanne are sitting around a circular
table but not necessarily in the same order. Three of them
are facing outward while five are facing towards the centre.
Michael is third to the right of Nicholas. Laura is sitting
third to the left of Michael. Three persons are sitting
between Laura and George. Dennis is sitting third to the
right of Laura, who is not facing the centre. Gillian is sitting
third to the right of Stephen, who is not facing the centre.
1. Who sits between Laura and Stephen?

(a) George (b) Gillian
(c) Michael (d) None of these
2. Who among the following is second to the right of
George?
(a) Gillian (b) Nicholas
(c) Michael (d) Laura

3. Which of the following statements is/are true with
respect to Suzanne?
(a) Suzanne is opposite of Dennis.
(b) Suzanne is fourth to the right of Dennis.
(c) Suzanne is fourth to the left of Dennis.
(d) All are true
4. Which of the following groups represents the group, of
those facing away from the centre?
(a) Stephen, Nicholas, Laura
(b) Ncholas, Laura, Gillian
(c) Stephen, George, Nicholas
(d) Gillian, Michael, Laura
5. What is the position of Nicholas with respect to
Suzanne?
(a) Nicholas is third to the right of Suzanne.
(b) Nicholas is second to the left of Suzanne.
(c) Nicholas is third to the left of Suzanne.
(d) Nicholas is in front of Suzanne.
Directions (6-10): Study the following information
carefully to answer the given questions:
There are six roads, G, H, I, ], K and L which go through six
different cities - Chandigarh, Jammu, Kolkata, Delhi,
Lucknow and Aligarh, but not necessarily in the same
order. I and K go through the cities of the same state. ] goes
through Jammu. G does not go through Kolkata or
Chandigarh. Similarly, H and K don’t go through Kolkata

6. I goes through which of the following cities?
(a) Aligarh
(b) Chandigarh
(c) Lucknow
(d) Either Aligarh or Lucknow
7. Which of the following road goes through Delhi?

(@G (b) H
()1 (d)]J
8. L goes through which of the following cities?
(a) Jammu (b) Kolkata
(c) Delhi (d) Chandigarh

9.  Which of the following statements/information is true?
(a) H-Chandigarh (b) J-Lucknow
(c) G-Kolkata (d) I-Jammu
10. Jammu is connected by which of the following roads?
(@) G (b)H
©1 ()]
Directions (11-15): Study the following information
carefully to answer these questions.
Eight friends A, B, C, D E, F G and H are sitting around a
circle facing the center. A sits third to the left of B, while
second to the right of F. D does not sit next to A or B. C and
G always sit next to each other. H never sits next to D and
C does not sit next to B.
11. Which of the following pairs sits between H and E?
(@ F,D (b)H, B
(©CG (d)E G
12. Starting from A’s position, if all the eight friends were
arranged in alphabetical order in clockwise direction,
then the seating position of how many members
(excluding A) not change?
(a) None (b) one
(c) Two (d) Three
13. Which of the following pairs has only one person sitting
between them, if the counting is done in clockwise

direction?

(@) A, B b C D

(C) F E (d) GH
14. Who sits to the immediate right of E?

() A (b) D

(c) F (d) H

15. What is the position of B with respect to C?

. .\ Second to the left (b) Third to the right

d Lucknow. (Aligarh and Luckn ties of (@)

:’:;te) ucknow. (Aligarh and Lucknow are cities of same (c) Third to the left (d) None of these
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Seating Arrangement

Order & Ranking Concepts:-

In this topic ,generally the ranks of a person from both
the sides left or right or from top and bottom are mentioned
and total numbers of a persons are asked . sometime the
guestions are based on their interchanged positions.

Formulasto determine the positioning of a person
(1) Left+Right=Total +1
(2) Left=Total +1-Right
(3) Right=Total +1-left
(4) Total =left + Right—1
Note : the above formulas are only for a single person’s
position

Example 1. | | | | |
1

3rd from left
3rd from right
Total=3+3-1

Same for vertical & Horizontal

(1) Total +1=top + Bottom

(2) Top=Total +1-Bottom

(3) Bottom=Total+1-Top

(4) Total=Top +Bottom -1

SEATING ARRANGEMENET

4+ In seating arrangement, we are generally asked to
arrange a group of people according to the given
conditions. They may have to be seated around a
table, the table could be of any shape-circular, square,
rectangular, pentagonal or any other. To solve seating
arrangement problems on the basis of the information
given in the equation.

+ These type of questions judge the ability of the
candidates to analyze the information and solve the
guestions by the help of pictorial figures.

® Lineararrangement: - In this arrangement, there
can be single row or parallel rows facing each
other or opposite.

(1) Left< >Right
(Directions if the people are facing north)

(i) Right< > Left
(Directions if the people are facing South)

(iii) Right < > |Left

Left< > Right
(Directions if the people are seating parallel to
each other facing South and North)

e Circular Arrangement: In this Arrangement,
people are sitting around a circle facing towards
or outside the centre.

(1)

or

Clockwise
Anti Clockwise

(Facing towards the Centre)

(i) Right Left

Left Right
(Facing outside the Centre)

T4

(People sitting around the circle facing
towards and outside the centre)

® Rectangular/square Arrangement: In this
Arrangement, people are sitting around a
rectangle or square facing towards or outside the
centre.

A
I

(Facing towards the centre)
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Sol.

Who is second to the left of G? D
(@ H (b) D
© A dE
Who is fourth to therightof C ? C E
(@ B (b) A
() H (d) E B
In which pair second person is just right to first? A
(a) HE (b) FB 6. (ayH 7. (d); E
GF 4 CA 8. (a);HE 9. (c); AE
© ) ) ) _( ) ) 10. A group of friends are sitting in an arrangement one
WhO IS the |mmed|ate nelghbourof H from bOth Slde? each at the corner Of an Octagon_ A” are facing the
(@ AG (b) EG centre. Mahima s sitting diagonally opposite to Rama,
) AE (d) BC who is_on sushma‘s right. I_?avi is next to sushma a_nc!
When eight persons are sitting in a circle we arrande opposite to Girdhar, who is on chandra's left. Savitri
them 'nfgollop ina wa 9 9 is not on Mahima's right but opposite to shalini. Who
! wingway. is on shalini's right?
) (@) Ravi (b) Mahima
right left (c) Girdhar (d) Rama
Sol. Shalini___Mahima
(facing towards
the centre) Ravi Chandra
k Aht
SLanig Girdhar
Itshould be kept in mind that left and right sides are
always opposite, those facing each other inacircle. Rama Savitri
According to the question, sitting arrangements of Ravi is on shalini's right.
eight friends are shown in the figure given below:-
Exercise
Ina class of 45 student Aditya’s rank is twelve from (a) 32 (b) 34
top what is his rank from bottom. (c) 35 (d)33
(a) 33 (b) 34 6. Inaclass, Abhinav's rank is 79 from bottom while
(c) 35 (d) None of these :gege are 80 boy in class what is Abhinav rank from
In a class of 42 students Nutan’s Rank is 22 from (a;)é (b)3
bottom. What is her rank from top? .
(4 (d) cannot be determine
(a) 21 (b)22 ) 7. Inaclass of 41 children, Aditya’s rank is eight from
(c)23 (d) cannot be determined top. Mamta is seven ranks below Aditya. What is
In a class, Sonal rank is 10" from top. What is his Mamta rank from bottom?
rank from below? (a) 26 (b) 27
(a) 24 (b) 25 (c)25 (d) Cannot be determine
(c) 26 (d) cannot be determined 8. Inaclassof 34_c_hiIQren, Ajay’s rankfro_m the top is
, . th twelve. Manoj is eight ranks below Ajay. What is
In a class Sonu's rank is 15" from top and t_welve Manoj's rank from the bottom?
from bottom. How many students are there in that (a)15 (b) 16
class? .
(c)14 (d) cannot be determine
(a)21 (b)25 ) 9. Inarow of boys, Aditya is seventh from the startand
(c) 26 (d) cannot be determine eleventh from the end. In another row of girl, Nutan
In a class of 80 boy a student rank is 48" from top. is tenth from the start and twelth from the end. How
What is his rank from bottom? many student are there in both the rows together?
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are facing towards north. Line Il, A, B, C, D are sitting (not
necessary they are sitting in a series given above) they are
facing south. They are all sitting in such away that line |
and line Il persons facing to each other.

B is second to the left of D. R is sitting to next who is
facing D. Only one person is sitting between Rand P.C. is
not facing to R. Two persons are sitting between R and Q.

25. Whoisfacingto P ?
@ A (b) B
© C d D
26. Which of the following is sitting to next to the left
who is facing D?
(@ P (b) Q
©) R (d) S
27. Which of the following is sitting to next to the left
who is facing B?
(@ P (b) Q
) R (d) S
28. Which of the following statement is true about S?
(@) Sisthe last personina line
(b) Sissecond to theright of Q.
(c) Sisnotanimmediate neighbour of P
(d) None of these

29. Four of the following five are a like in a certain way
and makes a group. Which is one that does not

30. A,B,C,D,E,Fand G are sitting in a row facing
north. F is sitting next to the right of E. C is the
neighbour of B and D. The person who is sitting
third to the left of D is Ist of an end of row, E is fourth
to the right of G. Then which position for A is?

(@) betweenCandE (b) Istfrom rightend
(c) Istfrom leftend (d) Datainadequate

Directions (31 - 35) : Read the following information

carefully and answer the question given below it:

A, B,C,D, E F, Gand H are sitting in acircle facing
centre. C is third to the left of A and second to right of E. B
is second to the right of C.D is second to the right of F, who
is second to the right of A. G is not an immediate neighbour
of C.

31. Whoisimmediate right of C?

(@) H b) G
(c) D (d) Datainadequate
32.  Who isimmediate right of H?

(@ D b G

(c) A (d) None of these
33. Whoisimmediate left of D?

(@ C b H

() F (d) E
34. Who is third to the right of D?

(@ C b H

(c) E (d) None of these

35. Whois second to the right of G?

belong to that group?
b PB (@ A (b) D
(c) QB (d) RA
Solutions
1. (b); rankfrom bottom [(total no. of students + 1) — =[(23 +1)-17] = 7. Hence, Dauli is 7" from the

rank from top)] = [(45+ 1) - 12] = 34"

left end of the row.

2. (@; (42+1)-22=21 11. (¢); Number of boys in front of Sonu = 14. Number of

3. (d); cannotbe determined boys behind Sonu = (14 * 3) =42. So, Total number

4. (c); totalno.ofstudent=[(rank fromtop + rankfrom of boys in the column =(14 + 1+ 42) =57. Ina

bottom) -1]=15+12-1=26 column of 57 boys, the seventh boy from the end

5. (d); [(80+1)-48] =81-48=33 is clearly 515 from the start. Thus, we have to

6. (a); [(80+1)-79]=2 find the number of boys between the 15" and
7. (b); MamtaRankfromtop=8+7=15 the 51t boy, which is clearly 35.

~ From below her ranl_< = (41 t1- 15)=27 12. (c); Number of boys to the left of Sanjay = (40 - 31) =

8 @ ﬁj_ay rant Irom tbop R 12_+ 24_32 20 = 35— 20 9. So, Sanjay is 10" from the left end. Shreya is

=Jlag/ rank from bottom = ( ~20)=35- third to the right of Amit. So, Shreya is 14" from

9. (d) infirstrow = (7 + 11 1) = 17 students the Ieﬁend. Clearly, Shreya is fourth to the right

In second row = (10 + 12 - 1) = 21 students of Sanjay.

Total = 21 + 17 = 38 students 13. (b); Amishais 22" from the top and Anujais 5 ranks

10. (b); Clearly, Priya is 13" from the left and 11" from below Amisha. So, Anuja is 27" from the top.

the right end of the row. So, number of girls in Also, Anuija is 34™ from the bottom. So, Number

the row = (13 + 11 -1) = 23. Now, Dauli is 17" of students passed = (26 + 1 + 33) = 60; Let the

from the right. Number of girls to the left of Dauli number of students passed and the number
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Data Sufficiency

Directions (1-5): Each of the questions below consists of a
question and two statements numbered I and II given
below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read
both the statements. Give answer-

(a) If the data in statement I alone are sufficient to answer
the question, while the data in statement Il alone are not
sufficient to answer the question.

(b) If the data in statement II alone are sufficient to answer
the question, while the data in statement I alone are not
sufficient to answer the question.

(c) If the data in both statements I and II together are
necessary to answer the question.

(d) If the data in both statements I and II together are not
sufficient to answer the question.

1. How is Ritika related to Ritesh?

I. Ritika who has two children is daughter of
Radhika. Radhika has only one grandson named
Ritesh.

II. Paras who is brother of Ritika has only one child
named Ridhi.

2. Who stays at 4th floor of the building having 5 floors (1-
5, ground floor empty)?

I.  Madhuri stays on an odd-numbered floor.

II. Akshay stays three floors above Madhuri.

3. What is the distance between points X and Y?

I.  Point P is 10 m west of point C. Point D is 5 m north
of point X which is 5 m west of point C.

II. Point D is equidistant from points X and Y.

4. How is ‘great’ written in that code?

I. Inacertain code, ‘great are those days’ is written as
‘ki vo tu mpi” and ‘those days were good” is written
as ‘ki fo mpi ta’

II. In a certain code, ‘many days passed’ is written as
“ti mpi dis” and ‘those good years’ is written as ‘ko
kika'.

5. On which day is Nikita’s birthday?

I. Shruti remembers that Nikita’s birthday falls in
February. Preeti remembers that Nikita's birthday
fall on either 29 or 30.

II. Krish remembers that Nikita's birthday occurs in
the last week of a month.

Directions (6-10): Each of the questions below consists of a

question and two statements numbered I and II given below

it. You have to decide whether the data provided in the
statements are sufficient to answer the question.

(@) If both the statements I and II taken together are
sufficient to answer the questions.

(b) If statement II alone is sufficient to answer the question,
but statement I alone is not sufficient to answer the
question.

(c) If statement either I or II is sufficient to answer the
question.

(d) If both the statements I and II taken together are not
sufficient to answer the questions.

6. What is Sonali’s position from the left end of a row?

I. There are 4 students between Gauri and Sonali.
Bhavna is 6th to the right of Gauri.

II. Gini is 6th to the left of Sonali and is 2nd from the
left end.

7. How many children are sitting between P and Q?

I. Pis5thto the right of R and 6th to the left of S. Q is
6th to the right of R.

II. Inarow of 25 students, P is 5th from left end and Q
is 20th from the right end.

8. AmongG, H, I, ] and K who has got the marks in middle
position?

I. G has got 1 mark less than H and has got greater
marks than K.
II. Iand ] have got greater marks than G.
9. How is N related to Q?
I. Cis daughter of Q and also mother of D.
II. B is brother of C and N is the wife of D.

10. Who has got highest marks among A, B, C, D and E?

I. D has got greater marks than A and less than C.
Also B has got greater marks than A and less than
E.

II. E has got less marks than C and greater than B and
D. A has got the lowest marks.

Directions (11-15): Each of the questions below consists of

a question and two statements numbered I and II given

below it. You have to decide whether the data provided in

the statements are sufficient to answer the question. Read
both the statements.
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23. In which of the following years pair the difference
between number of deaths maximum?
(a) 2013-2015 (b) 2013-2016
(c) 2016-2012 (d) 2012-2017
24. In which year the number of deaths is 34 minimum?
(a) 2017 (b) 2012
(c) 2015 (d) 2013
25. The minimum number of deaths is what percent less
than the maximum number of deaths?
(@) 75% (b) 150%
(c) 81.25% (d) 50.25%
Directions (26-29): The following pie-chart shows the
distribution of total cost per day incurred to a
manufacturer. Study the chart to answer the questions
based on it.

Miscellaneous Material
cost 150 cost 300
Machinery
cost 250
Labour
cost 150
Transportation .
cost 200 Packaging
Power cost cost 50
100

26. Which cost is second highest?
(a) Miscellaneous Cost ~ (b) Transportation Cost

(c) Labor Cost (d) Machinery Cost
27. Packaging cost is what percent of total cost?
(a) 4.16% (b) 3.24%
(c) 8% (d) 5.25%
28. What would be the central angle for material cost?
(a) 75° (b) 60°
(c) 120° (d) 90°
29. Machinery cost is what percent more than power cost?
(a) 250 (b) 150
(c) 100 (d) 75

Directions (30-31): The bar-chart is showing the number of
accidents in a city during the first six month of a year.
Examine the bar chart and answer the following questions:

Y
45 43
=y
40
35 -
30
) 1 27
25
2D
Number of §
Accidents 20 1
15
10
5
0 o : >
Jan Feb Mar Apr May June

Month e——

30. Compared to the month of January, what is the
percentage of decrease in accidents in the month of

February?
(a) 25 (b) 24
(c) 30 (d) 27

31. Percentage of decrease in the number of accidents from
May to June is:
(2) 152 %
(c) 222% (d) 182%

Directions (32-36): Study the following questions and

3

(b) 272 %

choose the correct answer.

State wise production of different crops for the year 1993-94

(in million tonnes)

State Rice Wheat | Pulses
U.P. 7.18 15.97 2.76
W.B. 8.09 0.81 0.35
M.P. 3.67 3.72 2.32
Maharashtra 1.94 0.86 1.11
Haryana 1.36 442 0.36
All India 58.64 44.23 12.2

32. W.B. produces approximately what percent of the total
rice produced in India?

(@) 12.2% (b) 13.5%
(c) 18% (d) 15%
33. The amount of wheat produced by U.P. is more than

the amount of wheat produced by the other four states

listed in the table, by
(@) 6.97 m tonnes (b) 6.16 m tonnes
(d) 5.89 m tonnes

34. What percentage of the total wheat production was

(c) 5.52 m tonnes

produced by states other than those who are not given
in the table? (approximately)

(a) 38% (b) 42%
(c) 48% (d) 58%

35. U.P. produced approximately what percent of the all
India production of all the three crops take together?
(@) 27.75% (b) 26.2%
(c) 24.18% (d) 22.52%

36. Which of the following statements is true?
(@) U.P. was the top producer of all the three crops.

(b) M.P. ranked third in the production of all three
crops.

(c) Maharashtra was the lowest producer of rice.

(d) Haryana was the lowest producer of wheat.
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SOLUTIONS

1.

(d); The data given in both I and II together are not
sufficient to answer the question.
Since it is not known that how many children does
Radhika has, it cannot be answered. Ritesh can be
son or nephew of Ritika.

(c); The data in both the statements I and II together are
necessary to answer the question.
From both:
Madhuri can stay at eitherl, 3 or 5. Akshay to be at
3 floors above Madhuri, she should be at 1st floor,
then Akshay at 4th.

(d); The data given in both I and II together are not
sufficient to answer the question.
Point D is 5 m north of X, so Y is also 5 m from D,
but it is not necessary that Y is in straight distance
to X through D, so can’t be determined.

(d); The data given in both I and II together are not
sufficient to answer the question.
From both, those” and ‘days’ can be find out. “great’
and ‘are” only present in I statement, so can’t be
determined.

(a); The data in statement I alone is sufficient to answer
the question.
From I: Nikita’s birthday is on 29 Feb, Since Feb has
no 30 date.

(b); If the data in statement II alone is sufficient to
answer the question.
From I: it is given that Gauri is 5th to Sonali but not
given left or right
From II: Gini is 2nd from left end, and then Sonali
is 6th to right of Gini, so Sonali is 8th from left end.

(c); If the data either in statement I alone or statement
I alone are sufficient to answer the question.
From either statement, it says that there is no one
between P and Q, or 0 students between P and Q.

(d); If the data given in both I and II together are not
sufficient to answer the question.
From both:
H has got 1 marks greater than G, and I and ] have
marks greater than G, it can be possible that either
of I or ] have 0.5 marks greater than G. middle
position can’t be determined.

(a); If the data in both the statements I and II together
are necessary to answer the question.
From both N is grand daughter-in-law of Q.

10. (b); If the data in statement II alone is sufficient to
answer the question.
From I C>D>A
E>B>A
From II C>E>B
D>A
11. (d); From I, Buy three dusters get one free
dd eejjoo ttyy
From II, Purchase one sharpener get three free
dd ee ll oo ww yy
From I and II code for ‘Buy dusters’
Jj
12. (d); From |,

From II,

L

D

In the above figure M can be placed at any point
towards South-west of C. so we cannot get the
specific position of M. We can't answer the
question. Again, statement II alone is not sufficient
because it tasks information regarding M.
From I & II, we get

L———0¢C

D
13. (d); Comparisons of strike ratio and centuries along

with fifties are not enough to answer the question.
14. (b); From I- The person who is sitting right of Q cannot
be find.

From II- R is on the immediate right of Q.so the
answer can be find by only II.
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04 Statement and Conclusion

Syllogism is a kind of logical argument drawn from given statements. It is an art of thinking and reasoning in strict
accordance wih the limitations and incapacities of the human misunderstandings, thats why some times irrelevant statements
are given and on the basis of which we have to draw conclusions.

Types of Statements (b) Particular Statements
(@ Universal Statements (All Type Statements) (3) Particular Affirmative/Positive
(1) Universal Affirmative/Positive Some A's are B's

i.,e. All A'sareB's

SN

Converse : SomeB'sare A's
(4) Particular Negative

Note : Converse : All B's Are A's is a Possibility Some A's Are Not B

(2) Universal Negative: All A'sare notB
X

Converse: All B'sare not A

Types of Syllogism

Type 1. All, All related statement but when they come inner side from outer side, then the
Statements: All potatoes are Onions. conclusions must have word 'Some'
All Onions are Tomatoes. Conclusions : Some cabbages are tomatoes.

All Tomatoes are Spinach.
All Spinach are Cabbages.

Some tomatoes are potatoes.
Some onions are potatoes.

Type 2. Some, Some related statements.
Sol.
Statements: Some chains are rings.
Somerings are ankle rings.
Some ankle rings are bangles.
Potatoes
Some bangles are hand.
Some hansds are fingers.
ankle
Sol. rngs hands
In this type of questions, conclusions have word 'All'. J
Conclusions: All potatoes are tomatoes
All onions are cabbage. =~
Alltomatoes are cabbage bangl fingers
ge. chain rings angles
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2. Statements: Some actors are singers. 4.  Statements: Some cows are Crows.
All the singers are dancers. Some crows are elephants.
Conclusions:  1.Some actors are dancers. Conclusions: 1. Some cows are elephants.
2. No singer is actor. 2. Allcrows are elephants.
(@) Only (1) conclusion follows (@ Only (1) conclusion follows
(b) Only (2) conclusion follows (b) Only (2) conclusion follows
(©) Either (1) or (2) follows () Either (1) or (2)follows
. (d) Neither (1) nor (2) follows
(d) Neither (1) nor (2) follows
Sol. (d);
Sol. (a);
Crows Crows
Actors Dancers Singers
(o Cows
(or) Dancers
Elephants
Cows Elephants P
: None of the two follows.
Singers
Actors 5. Statements: Some ants are parrots.
Only (1) follows. All the parrots are apples.
3. Statements: Some papers are pens. Conclusions: 1. Allthe apples are parrots.
All the pencils are pens. 2. Some ants are apples.
Conclusions: 1. Some pens are pencils. (@) Only (1) conclus!on follows
2. Some pens are papers. (b) Only (2) conclusion follows
(@ Only (1) conclusion follows (Z) Ilillthtir (1)1or 2) f;)IIfO\:\I/s
either (1) nor (2) follows
(b) Only (2) conclusion follows Sol (b) @ )
ol. ;
(c) Either (1) or (2) follows (b) Parrot
arrots
(d) Neither (1) nor (2) follows Parrots
Sol. (c);
Pens (or) Apples
Pens
(on) Pencils Ants
Apples Ants
Papers Pencils Papers Only (2) follows.
I Exercise b
Directions (1 - 20) : In each of the questions given below are | 2. Statements: Some mobile are computers.
given some statements followed by some conclusions. Read Some computers are calculators
all conclusions and give the answer as follows— '
(a) If only conclusion I follows. Some calculators are phones.
(b) If only conclusion I follows Conclusions: |. Some phones are computers.
(c) If either conclusion | or 11 follows. IIl. Some computers are mobile.
(d) If neither conclusion I nor Il follows. 3. Statements: Allspoons are bowls.
1. Statements: Allcots are tables. Some bowls are glasses.
2:: :?g;ﬁ: Z:g gj;;‘:' Some glasses are plates.
Conclusions: 1. Alltables are buses. Conclusions: 1. Some glasses are spoons.
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06

Blood Relations

Relationship means persons connected by relations like - father, mother, son-daughter, brother-sister, grand father, grand
mother, uncle-aunty, nephew-niece, brother-in-law, sister-in-law etc. The list can go on and on adding members from father's

side and mother's side etc.

Question in Test of Reasoning on Family/ Blood relationship are about the relationship of a particular person with
another person of the family, based on the chain of relationships between other members of that family.

Family/Blood Relation Tests are an exercise to test the candidates ability to comprehend and come to the crux of an issue

from complex, lengthy and unclear data.

4 Relations from Paternal Side

Father's Father —» Grandfather

e Father's Sister - Aunt

Wife of Uncle - Aunt

e Children of Uncle/Aunt — cousin

4 Relations from Maternal Side

e Mother's father —» Maternal grandfather

e Mother's brother — Maternal Uncle

e Children of maternal Uncle —» Cousin
+ Other Relations

e Grand father's son — Father/Uncle

e Grand mother's only son — Father

e Father'sson — brother

e Son's wife » Daughter-in-law

e Brother's/Sister's son— Nephew

e Brother's wife— Sister-in-law

e Father's Mother— Grand mother
e Father's Brother — Uncle

e Husband of Aunt — Uncle

e Mother's mother — Maternal grand mother
e Mother's sister - Aunt

e \Wife of maternal uncle — Maternal Aunt

e Grand father's onlyson — Father

e Grand father's (daughter-in-law) — Mother
e Father's daughter — Sister

e Daughter's husband — Son-in-law

e Brother's/sister's daughter — Niece

e Sister's husband— Brother-in-law

e Husband's or wife brother — Brother-in-law

e Grandson's or grand daughter’'s daughter— Great grand daughter.

+ We candenote male candidates with (+) sign and female candidate with (-) sign.

Some examples are : —

® ®
Father — Son

@

Father — Dau%hter
©

Mother — S((?n

© ©
Mother — Daughter

R-33
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10.

11.

| Exercise

Pointing to a photograph, a man said, “I have no brother
or sister but that man’s father is my father’s son.” Whose
photograph was it?

(@ Hisown (b) Hisson

(c) Hisfather’s (d) His nephew’s

Pointing towards a boy, Veena said, “He is the son of
only son of my grandfather.” How is that boy related to
Veena?

(@ Aunt (b) Uncle

(c) Mother (d) Datainadequate
Introducing Reena, Monika said, “She is the only
daughter of my father’s only daughter.” How is Monika
related to Reena?

(@ Aunt (b) Niece

(c) Cousin (d) Datainadequate

Pointing to aman awoman said, “His mother is the only
daughter of my mother.” How is the woman related to
the mother?

(@ Mother (b) Daughter

(c) Sister (d) Grandmother

If X is the brother of the son of Y’s son, how is X related to
Y?

(@ Son (b) Brother

(c) Cousin (d) Grandson

Pointing towards Rita, Nikhil said.” | am the only son of
her mother’s son.” How is Rita related to Nikhil?

(@ Aunt (b) Niece

(c) Mother (d) Cousin

Pointing to a lady, a man said,” The son of her only
brother is the brother of my wife.” How is the lady related
to the man?

(@) Mother’ssister (b) Grandmother

(c) Mother-in-law (d) Sister of father-in-law
Pointing to Ketan, Namrata said, “He is the son of my
father’s only son.” How is Ketan’s mother related to
Namrata?

(@) Daughter (b) Aunt

(c) Sister (d) Cantbe determined
Pointing to a man on the stage, Rashi said, “He is the
brother of the daughter of the wife of my husband.” How
is the man on the stage related to Rashi?

(@ Son (b) Husband

(c) Cousin (d) Nephew

A woman introduces a man as the son of the brother of
her mother. How is the man related to the woman?

(@ nephew (b) Son

(c) Cousin (d) Uncle

Introducing a man, awoman said, “He is the only son of
my mother’s mother.” How is the woman related to the
man?

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

Looking at a portrait of a man, Harsh said, “His mother
is the wife of my father’s son. Brother and sisters | have
none.” At whose portrait was Harsh looking?

(@ Hisson (b) His cousin

() Hisuncle (d) His nephew

Pointing to a man in a photograph, Asha said, “His
mother’s only daughter is my mother.” How is Asha
related to that man?

(@) Nephew (b) Sister

(c) Wife (d) Can’tbe determined
Introducing a man, a woman said, “His wife is the only
daughter of my father.” How is that man related to the
woman?

(@) Brother (b) Father-in-law

() Maternal uncle (d) Husband

Pointing towards a girl in the picture, Sarita said, “She
is the mother of Neha whose father is my son.” How is
Sarita related to the girl in the picture?

(@) Mother (b) Aunt

(c) Cousin (d) Datainadequate

Deepak said to Nitin,” That boy playing football is the
younger of the two brothers of the daughter of my father’s
wife.” How is the boy playing football related to Deepak?
(@ Son (b) Brother

() Cousin (d) Nephew

Pointing to a lady on the platform, Manju said,” She is
the sister of the father of my mother’s son.” Who is the
lady to Manju?

(@ Mother (b) Sister

(c) Aunt (d) Niece

Introducing man to her husband, a woman said, “His
brother’s father is the only son of my grandfather.” How
is the woman related to this man?

(@ Mother (b) Aunt

(c) Sister (d) Can’tbe determined.

A is mother of D and sister of B. B has a daughter C. Who
is married to F.G is the husband of A. How is G related to
D?

(@ husband (b) son

(c) father (d) uncle

Pointing to Kapil, Shilpasaid, “His mother’s brother is
the father of my son, Ashish.” How is Kapil related to
Shilpa?

(@) Sister-in-law (b) Nephew

() Niece (d) Aunt

Showing the man receiving the prize, Saroj said, “He is
the brother of my uncle’s daughter.” Who is the man to
Saroj?

(@) Mother (b) Aunt (@ Son (b) Brother-in-law
(c) Sister (d) Niece () Nephew (d) Cousin
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44,

45,

46.

47,

10.
11.
12.

Which of the following expression represents T is
nephew of J?

@ IxM-F+T b) IxM-F+T

) IxM+FxT (d) None of these

Which of the following expression represents B is the
paternal uncle of H ?

(@ BxM=+H (b) B+H+H

(c) BxM+H (d B+M-H

P’s father Q is B’s paternal uncle and A’s husband M is
P’s paternal uncle. How is A related to B?

(a) Cousin (b) Aunt

(c) Mother (d) Data inadequate

Shobha is the niece of Ashish. Ashish’s mother is Priya.
Kamla is Priya’s mother. Kamla’s husband is Hari.
Krishna is the mother-in-law of Hari. How is Shobha
related to Hari?
(a) Daughter
(c) Grand niece

(b) Great grand daughter
(d) Great grandson’s daughter

48.

49,

50.

Kalyani is mother-in-law of Veena who is sister-in-law
of Ashok. Dheeraj is father of Sudeep, the only brother of
Ashok. Veena is the only daughter of her parents. How
is Kalyani related to Ashok?

(b) Wife
(d) None of these

Nandini is only daughter of Madan's sister Sangita's
brother. How is Nandini related to Madan?

(b) Niece
(d) Niece or Daughter

(a) Cousin
(c) Mother-in-law

(@) Daughter
(c) Cousin

Pointing to Mona, Swarup says, "She is the daughter of
only one child of my grandfather. "How is Mona related
Swarup?

(@ Aunt
(c) Datainadequate

(b) Cousin
(d) Sister

| Solutions ]

(b); Since the narrator has no brother, his father’'ssonis | 13. (d); Asha’s mother’s mother is man’s mother i.e., Asha’s
he himself. The photograph is of his son. mother is man’s sister. But Asha can be niece or

(d); Only son of grandfather can be father or uncle. So, nephew as gender not known.
son of father would be brother and son of uncle | 14. (d); Only daughter of woman’s father—woman herself.
would be cousin. Hence data inadequate. So, the man is woman'’s husband.

(d); My fathers’ only daughter can be herself or hissister. | 15. (d); Neha s the daughter of Sarita’s son, and the girl is
In the first case, she would be the mother (Monika Neha’s mother. So, the girl is Sarita’s son’s wife i.e.
may be male name). Sarita is the girl’s mother-in-law or father-in-law as
In the second case, he would become uncle. So data gender cannot be determined.
inadequate.. 16. (b); Father’s wife—Mother; mother’s daughter—sister;

(b); Only daughter of my mother—Mlyself. So, the woman Deepak’s sister’s younger brother—Deepak’s
is mother’s daughter. younger brother. So, the boy is Deepak’s brother.

(d); Son of Y’s son—Grandson; Brother of Y’s | 17. (c); Manju’s mother’s son—Manju’s brother; Manju’s
grandson—Y’s grandson. So, X is Y’s grandson brother’s father—Manju’s father, Manju’s father’s

(@); Rita’s mother son—Rita’s brother. Hence she isaunt. sister—Manju’s aunt.

(d); Wife’s brother—Brother-in-law. Son of lady’s brother | 18. (d); My grandfather’s Only son-father, or uncle. If man
is the brother-in-law of the man. So, lady’s brother is is the son of father, the woman becomes sister. But if
man’s father -in-law i.e. the lady is the sister of man’s he is uncle, she becomes cousin.
father-in-law. 19. (c);

(d); My father’s only Son, can be Namrata himself or
Namrata’s brother. In the first case Mother of ketan
will be Namrata’s wife, and in the latter case she
would be sister in law of Namrata. Thus Cannot be
answered . . .

(@; Wife of Rashi’s husband—Rashi; Brother of ) From thedu_agra,m Itis clea_r thfitG'S Father of D .
daughter—Son. So, the man on the stage is Rashi’s 20. (o). !:ather of Shllpa S son—_Shll!oa s husband. So, Kap!l
son. is g;]glsorj of sw;er of Shilpa’s husband. Thus, kapil

_ ) , . is Shilpa’s nephew.

(c).  Brother (_)f moth_er—UncIe, Uncle’s son—Cousin. 21. (d); Brother of uncle’s daughter—Uncle’s son—Cousin.

(d); Woman is the niece of the man. So, the man is Saroj’s cousin.

(@); Since Harsh has no brother or sister, so he is his 9o (d); Only son of Amar’s mother’s father—Amar’s
father’s only son. So, wife of Harsh’s father’s son— maternal uncle. So, the girl’s maternal uncle is
Harsh’s Wife.ThUS, Harsh’s wife is the man’s mother Amar’s maternal uncle. Thus’ the girl’s mother is
or the man is Harsh’s son. Amar’s aunt. Or, if the girl is Amar’s sister, the girl’s

mother is his mother.
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09

Assertion & Reason

The word ‘Assertion’ means a confident and forceful
statement of fact or belief when we talk about it as a noun.
In these questions, the candidate is provided with a
statement. This statement presents an opinion, a fact, or a
comment. We call it the assertion. The other statement is the
reason.
This type of reasoning questions consists of two statements;
an assertion (statement of fact) and a reason (explanation
for the assertion). You have to determine whether each
statement is correct. If both the statements are correct, you
have to determine whether the reason supports the
assertion. There will be four answer choices for the possible
outcomes and you have to select the correct one.
1. Given below are two statements, one labelled as
Assertion (A) and other as the Reason (R).
Assertion (A) : Sustainable development is important
for well-being of human society.
Reason (R) : Sustainable development is a kind of
development that meets the needs of the present
without compromising the ability of future generations
to meet their own needs.
Codes:
(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)
(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)
(c) Assertion (A) is true, but Reason (R) is false
(d) Assertion (A) is false, but Reason (R) is true

2. Given below are two statements, one labelled as

Assertion (A) and other as the Reason (R).

Assertion (A) : Forests are a renewable resource.

Reason (R) : They enhance the quality of environment.

Select the correct answer from codes given below :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false

(d) Assertion (A) is false, but Reason (R) is true

3. Given below are two statements, one labelled as

Assertion (A) and other as the Reason (R).

Assertion (A) : The biosphere is an example of an open

system.

Reason (R) : There cannot be reinvestment of new

substances in the biosphere, but there is no restriction

on the investment and exit of energy.

Select the correct answer using the codes below :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false

(d) Assertion (A) is false, but Reason (R) is true

—_— o~

4. Consider the following statements and select the

correct answer from the codes given below :

Assertion (A) : India is a case of an over-urbanized

country.

Reason (R) : Most of the large cities in India do not have

adequate infrastructure.

Codes :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false

(d) Assertion (A) is false, but Reason (R) is true

5. Consider the following statements :

Assertion (A) : Natural resources are those that exist in

a region and can also be used in future.

Reason (R) : The development of an actual natural

resource depends upon the technology and cost of

production.

Select the correct answer from codes given below :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) correctly explains Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but

Reason (R) does not the correctly explain Assertion

(A)

Assertion (A) is true, but Reason (R) is false

Assertion (A) is false, but Reason (R) is true

an
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SOLVED EXAMPLES

Solution (1-5)

1.

3.

(a): Sustainable development is important for well-
being of human society. Sustainable development
has been defined in many ways. The most
frequently quoted definition is from our common
future, also known as the Brundtland Report
“Sustainable development is development that
meets the needs of the present without
compromising the ability of future generation to
meet their own needs”. Thus, both assertion and
reason are true and reason is correct explanation of
assertion.

(b): Renewable resources are the resources which can
be reused. Thus, forest is a renewable resource as it
can be reused after its sustainable exploitation.
Forests enhance the quality of the environment as
it absorbs carbon dioxide and produces oxygen.
Thus, assertion and reason both are correct, but
reason is not the correct explanation of assertion.

(c): The biosphere is an example of an open system. The
input and output of substances take place in their

system. There can be reinvestment of new
substances in the biosphere. Thus, assertion is true,
but reason is false.

(d): According to the Census of 2011 approximately 121
crore people (68.9%) still live in rural areas as
compared to 37.7 crores (31.1%) people living in the
urban areas. Although, the rate of urbanization in
India is high yet the process lacks solutions to
provide basic infrastructural amenities like
drinking water, transport, sanitation, electricity,
etc. Thus, assertion is false, but reason is true.

(b): Potential resources are those which exist in a
particular area and can be used in future. Actual
resources are those which have been surveyed and
their volume and quality have been determined
and there are being wused currently. The
development of an actual resource depends upon
technology and cost of production. Thus, assertion
and reason both are correct however reason does
not explain the assertion.

EXERCISE

1.

Consider the following statements :

Assertion (A) : Natural vegetation is the true index of

climate.

Reason (R) : Water-loving plants are found in a moist

climate.

Codes :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false

(d) Assertion (A) is false, but Reason (R) is true

Consider the following statements :

Assertion (A) : There is a positive relation between

Human Development Index (HDI) and Sustainable

Development Goals (SDG) ranking of Indian State.

Reason (R) : The underlying dimension of Sustainable

Development Goals (SDG) targets are closely related to

education and health aspect.

Codes :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false
(d) Assertion (A) is false, but Reason (R) is true

Consider the following statements :

Assertion (A) : Various components of an ecosystem

are not interdependent.

Reason (R) : Human activities have the impacts the

environment.

Codes :

(a) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false

(d) Assertion (A) is false, but Reason (R) is true

Consider the following statements :
Assertion (A) : Maximum number of the species of
butterflies are found in tropical countries.

Reason (R) Butterflies cannot tolerate low
temperatures.
Codes:

(@) Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)

(b) Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)
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29. Consider the following statements :

Assertion (A) : The Supreme Command of the Defence
Forces is vested in the President.

Reason (R) : The President’s powers as Commander-in-
Chief are independent of Legislative control.

Codes:

Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)
Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)
Assertion (A) is true, but Reason (R) is false

(

Assertion (A) is false, but Reason (R) is true

30. Consider the following statements :

Assertion (A) : The Council of Ministers in the Union of
India is collectively responsible both to the Lok Sabha
and the Rajya Sabha.

Reason (R) : The members of both the Lok Sabha and
the Rajya Sabha are eligible to be the Ministers of the
Union Government.

Codes:

Both Assertion (A) and Reason (R) are true and
Reason (R) is correct explanation of Assertion (A)
Both Assertion (A) and Reason (R) are true, but
Reason (R) is not the correct explanation of
Assertion (A)

Assertion (A) is true, but Reason (R) is false
Assertion (A) is false, but Reason (R) is true

SOLUTIONS

1.

(a):

(a):

(d):

(a):

Natural vegetation is the true index of climate and
an increase in the quantity of carbon dioxide in the
atmosphere also affects the natural vegetation.
Water-loving or aquatic plants are those which are
found mostly in muddy land and near the ponds.
They are found in the moist climate. Reduction of
moisture in the atmosphere results in the erosion of
such plants. Thus, Assertion (A) and Reason (R)
both are correct and Reason (R) is the correct
explanation of Assertion (A).

The underlying dimension of Sustainable
Development Goals (SDG) targets are closely
related to education and health aspect as evident in
the positive correlation between Human
Development Index (HDI) and Sustainable
Development Goals (SDG) rankings of Indian State.
Thus, Assertion (A) and Reason (R) both are correct
and Reason (R) is the correct explanation of
Assertion (A).

Various components of an ecosystem are
interdependent. Human activities (pollution,
overpopulation, burning fossil fuels, deforestation,
etc.) have the impacts on the environment. Thus,
Assertion (A) is not correct, but Reason (R) is
correct.

It is generally accepted that climate factors regulate
most insect species’ life cycle, including butterflies.
It is well established that temperature is a key factor
for increasing daily activities (flight, foraging,
movements) of butterflies. Butterflies cannot
tolerate low temperatures. So, maximum number
of the species of butterflies are found in tropical
countries. Thus, Assertion (A) and Reason (R) both

are correct and Reason (R) is the correct explanation
of Assertion (A).

: Climate change is increasing the pressure on

resources. There are many evidences available
which prove that climate change has an adverse
impact on both production and productivity of
agriculture and forestry. Therefore, the possibility
of a more complex situation in the future cannot be
denied. The agriculture sector is most affected by
the extreme weather conditions which raise the
question of food security. In the case of food
insecurity, there is a tendency for control over
unnecessary food storage which ultimately leads to
social stress. So, food insecurity is also a major
factor of social stress. Thus, Assertion (A) and
Reason (R) both are correct and Reason (R) is the
correct explanation of Assertion (A).

: The ozone layer is a layer in Earth’s atmosphere

which contains relatively high concentrations of
ozone (Oz). This layer absorbs 93-99% of the sun’s
high frequency wultraviolet light, which is
potentially detrimental to life on earth. Thus,
Assertion (A) and Reason (R) both are correct and
Reason (R) is the correct explanation of Assertion
(A).

: A growing population means increased demand

for food and a corresponding need to convert
forests to agriculture land. Demographic factors
including population growth, density, distribution,
migration and urbanization are important drivers
of deforestation. Thus, Assertion (A) and Reason
(R) both are correct and Reason (R) is the correct
explanation of Assertion (A).
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Part - 111

Knowledge of ICT




Introductions

The word Computer in earlier times meant a person who
performed calculations or computations. With years its
definition changed to a machine that performs calculations. It
can perform all type of mathematical and logical operations;

it can accept data, store data, retrieve data, process data and
produce output.

Charles Babbage was known as father of computer. He
invented two machines in 1822 introduced Difference
Engine and in 1834, introduced Analytical engine

Difference Engine Charles Babbage First automatic mechanical calculator
Analytical Engine Charles Babbage Mechanical general-purpose computer
71 Konrad Zuse World'’s first freely programmable computer
MARK-1 Konrad Zuse First Freely programmable Computer
ENIAC John W. Mauchly and First general purpose programmable electronic
J. Presper Eckert computer
EDSAC JohnvonNeumann First computer to store program
EDVAC John W. Mauchly and J. Binary serial computer
Presper Eckert
UNIVAC John W. Mauchly and J. First general-purpose computer for commercial use
Presper Eckert
Intel4004 Intel First commercially available microprocessor by
Intel, a 4-bit CPU
LISA (Local Applelnc. First commercial personal computers to have a GUI
Integrated Software
Architecture)
Dataphone AT&T First AT&T Commercial modem
ARPANET United States Department Early packet switching network and the first
network to implement the protocol suite TCP/IP.
NEXUS Browser Tim Berners-Lee First Web Browser was WorldWideWeb later
named Nexus. The first commonly available web
browser with a graphical user interface was
(WorldWideWeb) Erwise.
SixDegrees First social networking/ social mediasite

Generation of Computer

Subject 1st generation 2nd generation 3rd generation 4th generation 5th
generation
Period 1940-1956 1956-1963 1964-1971 1971-present present &
beyond
Circuitry Vacuum tube Transistor Integrated chips Microprocessor ULSI (Ultra
(1) (VLSD) Large Scale
Integration)
technology
Memory Capacity |20 KB 128KB 1MB Semiconductor type | VLSI and ULSI
and very high
Processing Speed | 300 IPS inst. Per 300 IPS 1IMIPS(1 Faster than 3rd Very fast
sec. million inst. Per generation
sec.)
Programming Assembly High level C,C++ C,C++,Java All the Higher
Language Language language level languages,
(FORTRAN, Neural
COBOL, ALGOL) networks,
Example of UNIVAC, EDVAC IBM 1401, IBM IBM 360 series, Pentium series Artificial
computers 7094, CDC 3600,D | 1900 series Multimedia, Intelligence,
UNIVAC 1108 Stimulation Robotics
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Types of computer

Classification of Computers

|
Computational Method
Type/ Technology/ Logic
1

Size and Capability

Purpose

Digital Analog Hybrid

Analog computer introduced by Lord Kelvin. Numerical
data are represented by measurable physical variables such
as electrical voltage. A thermometer is a simple analog
computer.

Digital computer that accepts and process data in the form of
numbers and all the character are converted into binary code.
Hybrid computer used the combined feature of analog and
digital machine. you can see hybrid computer in geological
departments.

Microcomputer these are small relatively inexpensive
computer designed for personal and office use. It has lowest
storing and processing speed. These can be laptop or desktop.
Minicomputer powerful as compare to microcomputer it has
higher memory provide faster operating speeds and large
storage capacities than microcomputers. It can be used as a
serverand capable of supporting from 2 to 200 users.
Mainframe computer it has very high memory and processing
speed and used as a server (can support thousands of users)

Super Mainframe Mini Micro General Purpose

Special Purpose

Super computer can be used for complex type of application
i.e. specific research, weather forecasting, Weapon designing
etc. CDC 6600 was the first successful supercomputer.
Sunway TaihuLight of China is the fastest supercomputer in the
world.

PARAM-8000 India’s first Super Computer developed by C- DAC
Pune in 1998.

Shasra T is considered as India’s fastest super computer,
manufactured by Indian Institute of Science.

Servers are dedicated computers that serve the needs or
request of other programs or computer.

Workstations serve usually one user only.

Information appliances are computers specially designed to
perform a specific "user-friendly" function—such as playing
music, photography.

An embedded system is a computer system with a dedicated
function within a larger system.

Hardware and I/0

A computer is an electronic device that accepts data from the
user (input), processes the data by performing calculations
and operations onitand generates the desired Output.

An unprocessed collection or representation of raw facts
represented in a manner suitable for communication,
interpretation or processing by humans or by automatic
means, is known as Data.

Personal computers use a number of chips mounted on a
maincircuitboard called Motherboard. Amotherboardis the
physical arrangement in a computer that contains the
computer's basic circuitry and components.

An output device is any piece of computer hardware
equipment used to communicate the results of data
processing carried out by an information processing system
(such as a computer) which converts the electronically
generated information into human-readable form.

The CPU is fabricated as a single Integrated Circuit (IC) chip. It
is also known as the Microprocessor. Multiprocessor
Computers uses

two or more Central Processing Unit

central
el Il o I oo
single computer g @

system. The term

also refers to the
ability of a system to support more than one processor
and/or the ability to allocate tasks between them.

The central processing unit (CPU) is the brain of your
computer. It handles all the instructions you give your
computer. The control unit (CU) is a component of a
computer's central processing unit (CPU) that directs
operation of the processor. It tells the computer's memory,
arithmetic/logic unit and input and output devices how to
respond to a program's instructions.

An arithmetic logic unit (ALU) is a digital circuit used to
perform arithmetic and logic operations. It represents the
fundamental building block of the central processing unit
(CPU) of acomputer.

Instruction Execution: the program which is to be executed is a
set of instruction which are stored in memory. The CPU
executes the instructions of program to complete a task and
this execution takes place inside the CPU with the help of
registers ALU (arithmetic logic unit) and CU(control unit).
When the processor executes instructions, data is
temporarily stored in small local memory location and these
are called registers.

Accumulator Register:- which stores the immediate result of
arithmetic and logical operations.

Memory address register (MAR) :- which contain the
address of memory location to which data is to be stored.
Program counter :- which contain the address of the next
instruction to process.

Instruction register:- which contain the current instruction
being processed
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Part-1V

Knowledge of POCSO
and other children safety
related Acts of Govt. of India
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1.

3.

The Prohibition Of Child Marriage Act, 2006

Short title, extent and commencement.

(1) This Act may be called the Prohibition of Child
Marriage Act, 2006.

(2) It extends to the whole of Indial***; and it applies also
to all citizens of India without and beyond India:
Provided that nothing contained in this Act shall apply
to the Renoncants of the Union territory of
Pondicherry.

(3) It shall come into force on such date2 as the Central
Government may, by notification in the Official
Gazette, appoint; and different dates may be
appointed for different States and any reference in any
provision to the commencement of this Act shall be
construed in relation to any State as a reference to the
coming into force of that provision in that State.

Definitions: In this Act, unless the context otherwise

requires,—

(a) “child” means a person who, if a male, has not
completed twenty-one years of age, and if a female,
has not completed eighteen years of age;

(b) “child marriage” means a marriage to which either of
the contracting parties is a child;

(c) “contracting party”, in relation to a marriage, means
either of the parties whose marriage is or is about to
be thereby solemnised;

(d) “Child Marriage Prohibition Officer” includes the Child
Marriage Prohibition Officer appointed under sub-
section (1) of section 16;

(e) “district court” means, in any area for which a Family
Court established under section 3 of the Family Courts
Act, 1984 (66 of 1984) exists, such Family Court, and in
any area for which there is no Family Court but a city
civil court exists, that court and in any other area, the
principal civil court of original jurisdiction and includes
any other civil court which may be specified by the
State Government, by notification in the Official
Gazette, as having jurisdiction in respect of the matters
dealt with in this Act;

(f) “minor” means a person who, under the provisions of
the Majority Act, 1875 (9 of 1875), is to be deemed not
to have attained his majority.

Child marriages to be voidable at the option of contracting

party being a child.—

(1) Every child marriage, whether solemnised before or
after the commencement of this Act, shall be voidable
at the option of the contracting party who was a child
at the time of the marriage:

Provided that a petition for annulling a child marriage
by a decree of nullity may be filed in the district court
only by a contracting party to the marriage who was a
child at the time of the marriage.

(2) If at the time of filing a petition, the petitioner is a
minor, the petition may be filed through his or her
guardian or next friend along with the Child Marriage
Prohibition Officer.

(3) The petition under this section may be filed at any time
but before the child filing the petition completes two
years of attaining majority.

[Note : 1. The words “except the State of Jammu and
Kashmir” omitted by Act 34 of 2019, s. 95 and the Fifth
Schedule (w.e.f. 31-10-2019).

2. 1st November, 2007, vide notification No. S.O.
1850(E), dated 30th October, 2007, see Gazette of
India, Extraordinary, Part Il, sec. 3(ii). ]

(4) While granting a decree of nullity under this section,

the district court shall make an order directing both
the parties to the marriage and their parents or their
guardians to return to the other party, his or her
parents or guardian, as the case may be, the money,
valuables, ornaments and other gifts received on the
occasion of the marriage by them from the other side,
or an amount equal to the value of such valuables,
ornaments, other gifts and money:
Provided that no order under this section shall be
passed unless the concerned parties have been given
notices to appear before the district court and show
cause why such order should not be passed.

4. Provision for maintenance and residence to female

contracting party to child marriage.—

(1) While granting a decree under section 3, the district
court may also make an interim or final order directing
the male contracting party to the child marriage, and in
case the male contracting party to such marriage is a
minor, his parent or guardian to pay maintenance to the
female contracting party to the marriage until her
remarriage.

(2) The quantum of maintenance payable shall be
determined by the district court having regard to the
needs of the child, the lifestyle enjoyed by such child
during her marriage and the means of income of the
paying party.

(3) The amount of maintenance may be directed to be paid
monthly or in lump sum.

(4) In case the party making the petition under section 3 is
the female contracting party, the district court may also
make a suitable order as to her residence until her
remarriage.

Custody and maintenance of children of child

marriages.—

(1) Where there are children born of the child marriage,
the district court shall make an appropriate order for

the custody of such children.
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1.

(ii)  whether the procedures prescribed under
the Act and rules were followed,
including those regarding timeframes;

(iii) details of arrangements for care and
protection of victims of offences under
this Act, including arrangements for
emergency medical care and medical
examination; and

(iv) details regarding assessment of the need
for care and protection of a child by the
concerned CWC in any specific case;

(h) use the information so collected to assess the
implementation of the provisions of the Act.
The report on monitoring of the Act shall be
included in a separate chapter in the annual
report of the NCPCR or the SCPCR.

(2) The concerned authorities mandated to collect data,
under the Act, shall share such data with the Central
Government and every State Government, NCPCR
and SCPCRS.

13. Repeal.—The Protection of Children from Sexual Offences

Rules, 2012 are hereby repealed, except as respects things
done or omitted to be done before such repeal.

The Child Labour (Prohibition and Regulation) Act, 1986

Short title, extent and commencement.

(1) This Act may be called ?[the Child and Adolescent
Labour (Prohibition and Regulation) Act, 1986].

(2) It extends to the whole of India.

(3) The provisions of this Act, other than Part Ill, shall
come into force at once, and Part Ill shall come into
force on such date® as the Central Government may,
by notification in the Official Gazette, appoint, and
different dates may be appointed for different States
and for different classes of establishments.

Definitions.—In this Act, unless the context otherwise

requires,—

4(ia)] “appropriate Government” means, in relation
to an establishment under the control of the Central

Government or a railway administration or a major

port or a mine or oilfield, the Central Government,

and in all other cases, the State Government;

“adolescent” means a person who has completed his

fourteenth year of age but has not completed his

eighteenth year;]

“child” means a person who has not completed his

fourteenth year of age or such age as may be

specified in the Right of Children to Free and

Compulsory Education Act, 2009 (35 of 2009),

whichever is more;]

(iii) “day” means a period of twenty-four hours beginning
at mid-night;

(iv) “establishment” includes a shop, commercial
establishment, workshop, farm, residential hotel,
restaurant, eating house, theatre or other place of
public amusement or entertainment;

(v) “family”, in relation to an occupier, means the
individual, the wife or husband, as the case may be, of
such individual, and their children, brother or sister of
such individual;

(vi) “occupier”, in relation to an establishment or a
workshop, means the person who has the ultimate
control over the affairs of the establishment or
workshop;

°[(0)

°1(ii)

13.

(vii) “port authority” means any authority administering a
port;

(viii) “prescribed” means prescribed by rules made under
section 18;

(ix) “week” means a period of seven days beginning at
midnight on Saturday night or such other night as
may be approved in writing for a particular area by
the Inspector;

[Note: 1. Subs. by Act 35 of 2016, s. 2, for the long title

(w.e.f. 1-9-2016).

2. Subs. by s. 4, ibid., for “the Child Labour (Prohibition

and Regulation) Act, 1986 (61 of 1986)” (w.e.f. 1-9-2016).

3. 26th May, 1993, vide notification No. S.0. 333(E), dated

26th March, 1993, see Gazette of India, Extraordinary,

Part i, sec. 3(ii).

4. Clause (i) renumbered as clause (ia) thereof by Act 35 of

2016, s. 4 (w.e.f. 1-9-2016).

5. Ins. by s. 4, ibid. (w.e.f. 1-9-2016).

6. Subs. by s. 4, ibid., for clause (ii) (w.e.f. 1-9-2016).]

(x) “workshop” means any premises (including the
precincts thereof) wherein any industrial process is
carried on, but does not include any premises to which
the provisions of section 67 of the Factories Act, 1948
(63 of 1948), for the time being, apply.

Prohibition of employment of children in any occupation

and process.—

(1) No child shall be employed or permitted to work in
any occupation or process.

(2) Nothing in sub-section (1) shall apply where the
child,—

(a) helps his family or family enterprise, which is
other than any hazardous occupations or
processes set forth in the Schedule, after his
school hours or during vacations;

(b) works as an artist in an audio-visual
entertainment industry, including
advertisement, films, television serials or any
such other entertainment or sports activities
except the circus, subject to such conditions and
safety measures, as may be prescribed:
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6. Clause (c) relettered as clause (d) thereof by s. 21, ibid.

(w.e.f. 1-9-2016).

7. Clause (d) relettered as clause (e) thereof by s. 21, ibid.

(w.e.f. 1-9-2016).

8. Ins. by Act 35 of 2016, s. 21 (w.e.f. 1-9-2016).]

(2) Every rule made by a State Government under this
Act shall be laid as soon as may be after it is made,
before the legislature of that State.

20. Certain other provisions of law not barred.—Subject to

21.

CHAPTER-D4 The Immoral Traffic Prevention Amendment Bill, 2006

1.

the provisions contained in section 15, the provisions of
this Act and the rules made thereunder shall be in addition
to, and not in derogation of, the provisions of the Factories
Act, 1948 (63 of 1948), the Plantations Labour Act, 1951 (69
of 1951) and the Mines Act, 1952 (35 of 1952).

Power to remove difficulties.—

(1) If any difficulty arises in giving effect to the provisions
of this Act, the Central Government may, by order
published in the Official Gazette, make such
provisions not inconsistent with the provisions of this

22.

Act as appear to it to be necessary or expedient for
removal of the difficulty:
Provided that no such order shall be made after the
expiry of a period of three years from the date on
which this Act receives the assent of the President.

(2) Every order made under this section shall, as soon as
may be after it is made, be laid before the Houses of
Parliament.

Repeal and savings.—

(1) The Employment of Children Act, 1938 (26 of 1938) is
hereby repealed.

(2) Notwithstanding such repeal, anything done or any
action taken or purported to have been done or taken
under the Act so repealed shall, in so far as it is not
inconsistent with the provisions of this Act, be
deemed to have been done or taken under the
corresponding provisions of this Act.

[Sections 23 to 26.]—Rep. by the Repealing and Amending

Act, 2001 (30 of 2001), s. 2 and the First Schedule (w.e.f. 3-

9-2001).

Short title and commencement. 4. Amendment of section 4.
(1) This Act may be called the Immoral Traffic (Prevention) In section 4 of the principal Act, in sub-section (1), the
Amendment Act, 2006. words "or a minor to" shall be omitted.
(2) It shall come into force on .sych-date. as the Cen.tral 5. Amendment of section 5.
Government may, by notification in the Official In section 5 of the princpal Act, in sub-section (1), for the
Gazette, appoint and different dates may be appointed proviso, the following proviso shall be substituted,
for different provisions of this Act. namely:—
Amendment of section 2 "Provided that if the person in respect of whom an offence
In section 2 of the Immoral Traffic (Prevention) Act, 1956 committed uncler. this sub-sectign, is a C.h”d' the
(hereinafter referred to as the principal Act),—[105 of punishment provided under this sub-section shall
1956] extend to rigorous imprisonment for a term of not less
(i) in clause (aa), for the words “sixteen years”, the words than seven years but may extend to life.".
“eighteen years” shall be substituted; 6. Insertion of new sections 5A, 5B and 5C.
(i) clauses (ca) and (cb) shall be omitted; After section 5 of the principal Act, the following sections
(iii) in clause (f), after the words “for commercial shall be inserted, namely:—
purposes”, the words “or for consideration in money 5A. Whoever recruits, transports, transfers, harbours, or
or in any other kind” shall be inserted. receives a person for the purpose of prostitution by
Amendment of section n;eans of,— y ) bduction. fraud
In section 3 of the principal Act, for sub-section (1), the (a) td reat :r %Jse of force or coercion, abduction, fraud,
following sub-section shall be substituted, namely:— [10] eception; or . .
« S (b) abuse of power or a position of vulnerability; or
(1) Any person who keeps or manages, or acts or assists in . . . .
. (c) giving or receiving of payments or benefits to achieve
the keeping or management of, a brothel shall be .
. . . . . the consent of such person having control over
punishable on first conviction with rigorous . e
. . another person, commits the offence of trafficking in
imprisonment for a term of not less than two years
. . persons.
and which may extend to three years and also with . .
) . . Explanation—Where any person recruits, transports,
fine which may extend to ten thousand rupees and in .
h ; q b o ith transfers, harbours or receives a person for the purposes
t_ € even'F 0 :'jsecon c])cr su sequenthf:ohnv:tll?n, W'tt) of prostitution, such person shall, until the contrary is
Irlgorohus |r’r;1pr|sonment ;)r ah.tehrm which s da not be proved, be presumed to have recruited, transported,
ess than three years a'f' whic 'may e?(ten to seven transferred, harboured or received the person with the
years and shall also"be liable to fine which may extend intent that the person shall be used for the purpose of
to two lakh rupees.”. prostitution.
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(1) If any difficulty arises in giving effect to the
provisions of this Act, the Central Government
may, by order, published in the Official Gazette,
make such provisions not inconsistent with the
provisions of this Act, as may appear to it to be
necessary for removing the difficulty:

commencement of the Right of Children to Free
and Compulsory Education (Amendment) Act,
2012 (30 of 2012).

(2) Every order made under this section shall be laid,
as soon as may be after it is made, before each
House of Parliament.]

Provided that no order shall be made under this
section after the expiry of three years from the

1. Short title and commencement.
(1) This Act may be called the Criminal Law (Amendment)
Act, 2013.
(2) It shall be deemed to have come into force on the 3rd
day of February, 2013.

The Criminal Law Amendment Act, 2013

or any other person, contravenes the provisions of
section 357C of the Code of Criminal Procedure,
1973, shall be punished with imprisonment for a
term which may extend to one year or with fine or
with both.".

2. Amendment of section100. 4. Amendment of section 228A.
(1) In the Indian Penal Code (hereafter in this Chapter (1) In section 228A of the Penal Code, in sub-section (/),

referred to as the Penal Code), in section 100, after
clause Sixthly, the following clause shall be inserted,
namely:-

"Seventhly.-An act of throwing or administering acid or
an attempt to throw or administer acid which may
reasonably cause the apprehension that grievous hurt
will otherwise be the consequence of such act.”

Insertion of new sections 166 A. and 166B.
(1) After section 166 of the Penal Code, the following

sections shall be inserted, namely:—

“166A. Whoever, being a publc servant,-

(a) knowingly disobeys any direction of the law which
prohibits him from requiring the attendance at
any place of any person for the purpose of
investigation into an offence or any other matter,
or

(b) knowingly disobeys, to the prejudice of any
person, any other direction of the law regulating
the manner in which he shall conduct such
investigation, or

(c) fails to record any information given to him under
sub-section (1) of section 154 of the Code of
Criminal Procedure, 1973, in relation to cognizable
offence punishable under section 326A, section
326B, section 354, section 354B, section 370,
section 370A, section 376, section 376A, section
376B, section 376C, section 376D, section 376E or
section 509, shall be punished with rigorous
imprisonment for a term which shall not be less
than six months but which may extend to two
years, and shall also be liable to fine.
166B. Whoever, being in charge of a hospital,
public or private, whether run by the Central
Government, the State Government, local bodies

for the words, figures and letters "offence under
section 376, section 376A, section 376B, section 376C
or section 376D", the words, figures and letters
"offence under section 376, section 376A, section
3768, section 376C, section 376D or section 376E" shall
be substituted.

Insertion of new sections 326A and 326B.

(1) After section 326 of the Penal Code, the following
sections shall be inserted, namely:-
'326A. Whoever causes permanent or partial damage
or deformity to, or burns or maims or disfigures or
disables, any part or parts of the body of a person or
causes grievous hurt by throwing acid on or by
administering acid to that person, or by using any
other means with the intention of causing or with the
knowledge that he is likely to cause such injury or hurt,
shall be punished with imprisonment of either
description for a term which shall not be less than ten
years but which may extend to imprisonment for life,
and with fine:
Provided that such fine shall be just and reasonable to
meet the medical expenses of the treatment of the
victim:
Provided further that any fine imposed under this
section shall be paid to the victim.
326B. Whoever throws or attempts to throw acid on
any person or attempts to administer acid to any
person, or attempts to use any other means, with the
intention of causing permanent or partial damage or
deformity or burns or maiming or disfigurement or
disability or grievous hurt to that person, shall be
punished with imprisonment of either description for a
term which shall not be less than five years but which
may extend to seven years, and shall also be liable to
fine.
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““42. Where an act or omission constitutes an offence
punishable under this Act and also under sections
166A, 354A, 354B, 354C, 354D, 370, 370A, 375, 376,
376A, 376C, 376D, 376B or section 509 of the Indian
Penal Code, then, notwithstanding anything contained
in any law for the time being in force, the offender
found guilty of such offence shall be liable to
punishment under this Act or under the Indian Penal
Code as provides for punishment which is greater in
degree.

42A. The provisions of this Act shall be in addition to
and not in derogation of the provisions of any other
law for the time being in force and, in case of any
inconsistency, the provisions of this Act shall have

overriding effect on the provisions of any such law to
the extent of the inconsistency."

30. Repeal and savings.

(1) The Criminal Law (Amendment) Ordinance, 2013 is
hereby repealed.

(2) Notwithstanding such repeal, anything done or any
action taken under the Indian Penal Code, the Code of
Criminal Procedure, 1973 and the Indian Evidence Act,
1872, as amended by the said Ordinance, shall be
deemed to have been done or taken under the
corresponding provisions of those Acts, as amended by
this Act.

CHAPTER-(J / The National Policy for Children, 2013

1. Introduction

(1.1) India is home to the largest child population in the world.
The Constitution of India guarantees Fundamental Rights to
all children in the country and empowers the State to make
special provisions for children. The Directive Principles of
State Policy specifically guide the State in securing the tender
age of children from abuse and ensuring that children are
given opportunities and facilities to develop in a healthy
manner in conditions of freedom and dignity. The State is
responsible for ensuring that childhood is protected from
exploitation and moral and material abandonment.

(1.2) Declaring its children as the nation's "supremely important
asset" in the National Policy for Children, 1974, the
Government of India reiterated its commitment to secure
the rights of its children by ratifying related international
conventions and treaties. These include the Declaration of
the Rights of the Child, Universal Declaration of Human
Rights and its Covenants, the Convention on the Rights of the
Child and its two Optional Protocols, the United Nations
Convention on the Rights of Persons with Disabilities, the
United Nations Convention against Transnational Organized
Crime, the Protocol to Prevent, Suppress and Punish
Trafficking in Women and Children, the Hague Convention
on Protection of Children and Cooperation in respect of
Inter-Country Adoption, and the Convention on the
Elimination of All Forms of Discrimination against Women.

(1.3) The National Policy for Children, 1974 recognised that
programmes for children should find prominent place in
national plans for the development of human resources, so
that children grow up to become robust citizens, physically
fit, mentally alert and morally healthy, endowed with the
skills and motivations provided by society. The Policy also
laid emphasis on equal opportunities for the development of
all children during the period of growth.

(1.4) The National Charter for Children, 2003 adopted on Sth
February 2004, underlined the intent to secure for every
child its inherent right to be a child and enjoy a healthy and

happy childhood, to address the , root causes that negate
the healthy growth and development 6f children, and to
awaken the conscience of the community in the wider,
societal context to protect children from all forms of abuse,
while strengthening the family, society and the Nation.

(1.5) To affirm the Government's commitment to the rights based

approach in addressing the continuing and emerging
challenges in the situation of children, the Government of
India hereby adopts this Resolution on the National Policy for
Children, 2013.

2. Preamble
(2.1) Recognising that :
a child is any person below the age of eighteen years;

childhood is an integral part of life with a value of its own;
children are not a homogenous group and their ' different
needs need different responses, especially the multi-
dimensional vulnerabilities experienced by children in different
circumstances;

a long term, sustainable, multi-sectorai, integrated and
inclusive approach is necessary for the overall and harmonious
development and protection of children;

(2.2) Reaffirming that :

e every child is unique and a supremely important national
asset;

e special measures and affirmative action are required to
diminish or eliminate conditions that cause discrimination;

¢ all children have the right to grow in a family environment,
in an atmosphere of happiness, love and understanding;

o families are to be supported by a strong social safety net in
caring for and nurturing their children;
the Government of India reiterates its commitment to
safeguard, inform, include, support and empower all
children within its territory and jurisdiction, both in their
individual situation and as a national asset. The State is
committed to take affirmative measures--legislative, policy
or otherwise—to promote and safeguard the right of all
children to live and grow with equity, dignity, security and

Visit: adda247.com

m Adda247 Publications For More Study Material




The Child Mortality Rate

Child Mortality is the death (mortality) of children under 5 years of age. According to UNICEF, Child Mortality or Under-5 Mortality
Rate refers to the probability a newborn would die before reaching exactly 5 years of age, expressed per 1,000 live births.

Infant Mortality Rate (IMR) refers to the probability of dying between birth and exactly 1 year of age, expressed per 1,000 live
births.

Neonatal Mortality Rate (NMR) refers to the probability of dying during the first 28 days of life, expressed per 1,000 live births.

Trends in India: According to the Sample Registration System (SRS) Statistical Report, 2020 released in September 2022,
India’s Under-5 Mortality Rate stood at 32 while Infant and Neonatal Mortality Rates were 28 and 20 respectively.

INDICATOR SRS 2014 SRS 2019 SRS 2020

Crude Birth Rate (CBR) 21.0 19.7 19.5
Total Fertility Rate 23 2.1 20
Early Neonatal Mortality 20 16 15
Rate (ENMR) — 0- 7 days

Neonatal Mortality Rate (NMR) 26 22 20
Infant Mortality Rate (IMR) 39 30 28
Under 5 Mortality Rate (USMR) . 45 35 . 32

The NMR ranges from 23 in rural areas to 12 in urban areas. The IMR ranges from 31 in rural areas to 19 in urban areas.
According to the SRS 2020 Report, 6 States/ UTs have already attained SDG target of NMR (<=12 by 2030). These are Kerala (4),
Delhi (9), Tamil Nadu (9), Maharashtra (11), Jammu & Kashmir (12) and Punjab (12).

11 States/UTs have already attained SDGs target of USMR (<=25 by 2030). These are Kerala (8), Tamil Nadu (13), Delhi (14),
Maharashtra (18), J&K (17), Karnataka(21), Punjab (22), West Bengal (22), Telangana (23), Gujarat (24), and Himachal Pradesh (24).

States/UTs Birth rate Death rate Infant mortality rate

2010 2020 2010 2020 2010 2020

(1) (2) (3) (4) (5) (6) (7)

Andhra Pradesh 17.9 15.7 7.6 6.3 46.0 24.0
Assam 23.2 20.8 8.2 6.2 58.0 36.0
Bihar 28.1 25.5 6.8 5.4 48.0 27.0
Chhattisgarh 25.3 22.0 8.0 7.9 51.0 38.0
NCT of Delhi 17.8 14.2 4.2 3.6 30.0 12.0
Gujarat 21.8 19.3 6.7 5.6 44.0 23.0
Haryana 22.3 19.9 6.6 6.1 48.0 28.0
Jammu & Kashmir 18.3 14.6 5.7 4.6 43.0 17.0
Jharkhand 25.3 22.0 7.0 5.2 42.0 25.0
Karnataka 19.2 16.5 7.1 6.2 38.0 19.0
Kerala 14.8 13.2 7.0 7.0 13.0 6.0
Madhya Pradesh 27.3 24.1 8.3 6.5 62.0 43.0
Maharashtra 17.1 15.0 6.5 5.5 28.0 16.0
Odisha 20.5 17.7 8.6 7.3 61.0 36.0
Punjab 16.6 14.3 7.0 7.2 34.0 18.0
Rajasthan 26.7 23.5 6.7 5.6 55.0 32.0
Tamil Nadu 15.9 13.8 7.6 6.1 24.0 13.0
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10.

Exercise

/A

The commission for the Protection of Child Right Act 2005
receive the assent of the President

(a) 1January (b) 20 January

(c) 15 August (d) 26 January

What is defined in Section 2 (ii) of the Child Labour
(Prohibition and Regulation) Act, 19867

(a) Workshop

(b) Child

(c) Week

(d)Appropriate Government

The National charter for children was notified in the
Gazette of India on
(a) 26 January 2004
(c) 15 August 2005

(b) 9 February 2005
(d) 9 February 2004

Under the protection of children from sexual offecnces Act,
2012 Who will conduct the cases before the Special Court:
(a) Additional district public prosecutor

(b) Government pleader

(c) Special public prosecutor

(d) District prosecution officer

According to census 2011 sex ratio per 1000 male was
(a) 950 females (b) 943 females
(c) 940 females (d) 945 females

The Right of children to free and compulsory Education Act
2009 provides free and compulsory education to all
children -

(a) between the age of four to fourteen year

(b) between the age of six to fourteen year

(c) between the age of six to Eighteen year

(d) between the age of five to fifteen year

The Immoral Traffic (Prevention) Act extend to-
(a) Both above are incorrect.

(b) Whole of India except Jammu & Kashmir

(c) Both above are correct

(d) Whole of India

Which Article of constitution of India empowered the state
to make special provision for children?

(a) Article 16(3) (b) Article 15 (2)

(c) Article 15 (3) (d) Article 15 (1)

Under which section the definition of a child is given in the
prohibition of child marriage Act, 2006

(a) Sec-3 (c) (b) Sec-3 (a)

(c) Sec-2 (c) (d) Sec-2 (a)

According to the data of the United Nations International
Children’s Emergency Fund, the infant mortality rate in the
year 2021 was
(a) 25
(c) 21

(b) 18
(d) 20

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Brothel is defined under the Immoral Traffic (Prevention)
Act 1956 in

(a) Section 2 (d) (b) Section 2 (b)

(c) Section 2 (c) (d) Section 2 (a)

Which provision of the constitution of India provision early
childhood care and education to children below the age of

6 years.
(a) Article 46 (b) Article 44
(c) Article 45 (d) Article 43

What is object of National charter of children?
(a) All of these

(b) to protect the health of child

(c) to make provision for healthy growth

(d) to protect right of child

Under which section of the Right of children to free and
compulsory Education Act 2009 Child has been defined?

(a) Section 2 (d) (b) Section 2 (b)

(c) Section 2 (c) (d) Section 2 (a)

Child Labour Technical Advisory Committee is constituted
under Section 5 of the Child Labour (Prohibition and
Regulation) Act, 1986?

(a) By the President

(b) By the state government

(c) By the central government

(d) By the appropriate government

At present the infant mortality rate under the age of 5 in
India is?

(a) 40 (b) 34

(c) 32 (d) 35

Under Section 2 (b) of the commission for the Protection of
Child Right Act 2005 defined?
(a) Member

(c) Commission (d) Child Right

Which section is related to the provisions for the
appointment of child marriage prohibition officer under the
prohibition of child marriage Act, 2006.

(a) Section 16 (b) Section 15

(c) Section 18 (d) Section 14

Under the protection of children from sexual offences Act,
2012 the special court shall complete the trial as form as
possible within a period from taking congizance of the
offence.

(a) 1 year
(c) 2 years

(b) Right

(b) 9 months
(d) 6 months

Estimated sex ratio per 1000 males in the year 2023 is?
(a) 943 females (b) 995 females
(c) 1020 females (d) 990 females

Under the protection of children from sexual offence Act,
2012 in which section the sexual Harassment defined

(a) Section 11 (b) Section 5

(c) Section 9 (d) Section 2
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CHAPTER-(J1 / Regulatory Guidelines for Hostel of Educational Institutions for Children By NCPCR

The guidelines for regulating hostels of educational h) "Guardian" in relation to a child, means a person
institutions. having the care and custody of that child and includes
(1) Title and Scope of the Guidelines a natural guardian or guardian appointed or declared

a) These guidelines may be called "Regulatory Guidelines by a court or a statute.
for hostel of educational institutions for children". i) NCPCR means the "National Commission for Protection

b) These guidelines shall apply to all institutions wherever of Child Rights (NCPCR)" constituted under Section 3 of
children in the age group of 6-18 years are in the Commissions for Protection of Child Rights Act,
accommodation for the purpose of imparting 2005 (4 of 2006)
education. i) "Norms and Standards" means minimum mandatory

c) These guidelines shall be applicable to any/all such requirements to establish and run a "hostel of
institutions functioning under various nomenclature educational institutions for children" as in point 4 (b)
viz. College, hostel, coaching centres, remedial centres of these guidelines
and any other institution wherever children in the age k) "Parent" means either the biological or step or
group of below 18 years are in accommodation for the adoptive father or mother of a child.
purpose Ofimp_aftins education.. ) [) "Educational Institution" means any aided/unaided

d) Nothing contained in these guidelines shall apply to institution, private aided and unaided Minority
any institution that falls under the purview of Juvenile institutions imparting education to the children in the
Justice (Care and Protection of Children) Act, 2015. age group of 6-18 year.

e) The State may notify these guidelines as legislation in m) SCPCR means "State Commission for Protection of
their -respe-ctlv-e -States to regulate hostels of Child Rights" constituted under Section 17 of the
educational institutions, . . Commissions for Protection of Child Rights Act, 2005 (4

f) the schemes/regulatory bodies under various of 2006)
ministri_es o.f ur-wion./statg government res[:)onsible " n) "Screeni;wg Procedure" means method other than that
regulatlng institutions imparting education to the of random selection for admission of a child.
children t.)elo-w the age .Of belqw 18. years shall notify o) RTE Act, 2009- The Right of Children to Free and
these guidelines to bring uniformity in norms and .
standards, wherever children in the age below 18 years Compulsory Education Act, 2009
are in accommodation for the purpose of imparting | (3) Establishment of hostel
education. a) After the enforcement of the guidelines by notification,

(2) Definitions no .hoste.l of fedycationz.al institgtion shall run without

a) "Appropriate Government" In Relation To A Hostel Of reglstra.tlon V\{IFhln. the time period of six mo.n.ths .(or as
Educational Institutions For Children Established stated. n r'!otlf.lcatlon) from the date of notification of
Within Territory Of A State, The State Government; the said guidelines.

And Union Territory Having Legislature, The b) Registration under these guidelines shall be deemed
Government Of That Union Territory. mandatory for any/all educational institutions having

b) "Competent authority" means an officer who is head hostels/residential facilities for children below 18 years
of district education department as applicable in either regulated or affiliated or recognized by any other
respective States/UTs. council/statutory body/department/board or not.

c) "Child" means a student below the age of eighteen (4) Procedure of Registration
years. a) The management of every hostel in existence on the

d) "District" means jurisdiction of District of the date of the enforcement of these guidelines as per point
competent authority in respective states/UT. 3 and of every hostel proposed to be established on or

e) Hostel of Educational Institutions for children" means after that date shall make an application, in prescribed
wherever children in the age of below 18 years are in format, to the competent authority for registration to
accommodation for the purpose of imparting run such hostels or to establish such institution, as the
education. case may be;

f) "Employee" means any person appointed/engaged by b) Every such application shall-
the management of the Hostel of Educational i. be in the prescribed form as annexed;

Institutions who is involved in any activity of the said ii. be accompanied by such processing fee as
institution. prescribed by respective appropriate Government;

g) "Fee" means expenditure of any kind incurred by the and
parents/guars:hary of Ch'l.d fgr th? purpose  of iii. contain the particulars as per the annexed norms
accommodation in such residential facility. and standards,
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72. Is the hostel situated on hilltops 82. Does the hostel ensure safe and
or where there is a possibility of potable water?
landslide? 83. Does the hostel have water

73. Is the hostel located near an management system in the event
industry or a chemical factory of a fire? Is there easy access to
producing fatal chemical such sources?

?
productsf. ; . Transport Management and Safety
Safety from Constructlon.al Hazards 84, Is the hostel owning/ running
74. Does the hostel have any ongoing
. buses on lease for students?
construction? - -
- - 85. In case children are using other

75. Are barricades and signboards ft t h ic hostel
being put in the construction area mear\s 9 ransport, how Is (;S €
prohibiting the movement of monitoring such arrangement?
students? 86. Is there a first-box in the hostel

Safety in the Playground vehicle?

76. Is the playground safe for the 87. Has the hostel complied with the
students to play games? Are they rules and regulations stipulated
being maintained well? by the local transport authorities?

77. What are the different sports 88. Are staff members delegated
facilities available in the hostel? responsibilities  for  transport

78. Are the SAl guidelines followed in management?
prov!dlng these facilities? (give 89. | Are the drivers of transportation
details) : provided by hostel trained and

79. Have adequate precautions for have a regular license?
the safety of the students being 90. Is it ensured whether the students
taken by the hostel? .

Water Safet are cautioned to keep a safe
— ater >a e. y distance before starting the bus?
80. Is the drinking water safe in the -
91. Are there speed governors in
hostel plant? Is the water source h b 5
well protected? ostel busess

81 Is the water provided to the 92. Are students been trained in
students tested by the inspection orderliness in buses? Have they
teams periodically? been exposed to traffic rules?

CHAPTER-DZ Handling of Large Number of Students..... Record Management of Children

Community Building: Community building is a crucial aspect of
being an effective hostel warden, especially when managing a
large number of students. Building a strong and supportive
community can lead to a more harmonious living environment

Effectively managing a large number of students as a hostel
warden requires careful planning, strong organizational skills,
and the ability to build a positive and inclusive community. Here
are some strategies and organizational tips to handle this

responsibility effectively:
1. Clear Communication:

Maintain open and transparent

communication

channels with students. Establish regular meetings or L
check-ins to address concerns and provide updates.

Ensure that students are aware of the rules,
regulations, and expectations within the hostel. Clearly
communicate consequences for rule violations. 2,

2. Delegation of Responsibilities:
[ )

Delegate specific responsibilities to assistant wardens
or student leaders to help with day-to-day tasks, such

as managing common areas, conducting inspections, or 3

organizing events.

Create a structured system for students to report
maintenance issues or concerns, and ensure these are

addressed promptly.

and better overall well-being for the students. Here are some
strategies and ideas for community building:

Welcome and Orientation: Begin by welcoming new
students to the hostel with an orientation program. This
can include introductions, tours, and information about
hostel rules and resources.

Icebreaker Activities: Organize icebreaker activities and
events at the beginning of each semester or academic year.
These activities can help students get to know each other
and build friendships.

Common Spaces: Create inviting and functional common
spaces within the hostel where students can socialize,
study, and relax. Arrange furniture in a way that
encourages interaction.
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10.

Exercise

/A

What is the person who runs the hostel called?
(a) Clerk (b) Peon
(c) Warden (d) Teacher

How can warden ensure peaceful environment for study in

Hostel?

(a) Give permission to students to take his pet in study
zone.

(b) Ignore any problem in study zone.

(c) Promote meetings and celebrations full of noise in
study zone.

(d) Decide peaceful time and study zone in Hostel.

In which register the behavior done by the student is
recorded?

(a) Consultation register
(c) Attendance register

(b) Academic register
(d) None of these

How many times in a year the accounts of the hostel
required to be audited?
(a) Four times
(c) Three times

(b) Two times
(d) Once

Who controls hostel and mess?
(a) Chief Director (b) Director
(c) Warden (d) None of these

How can a Hostel warden ensure that the hostel with

disabilities

(a) Refusal to make any accommodation for students with
disabilities.

(b) Regular audit and improvement in hostel premises to
make accessible to disabled

(c) Exclusion of students with disabilities from living in the

hostel.
(d) Ignore the accessibility needs of students with
disabilities.

Reporting system established
(a) Adaptability to change
(b) Better productivity

(c) Clarity of working relation
(d) Specialization

Which consumable goods are provided to students in the
hostel?

(a) The mug, bucket, a mop, A.C

(b) Almirah, light iron box, inverter, broom

(c) Mattress, pillow, a dustbin, bicycle

(d) Bed, table, chair, bookshelf

What type of information is required in modern
management for financial statements like profit and loss
account and balance sheet

(a) Less detailed (b) Limited only

(c) More detailed (d) Too restricted

Regular Health Checkup should be conducted in hostel
after how much time interval?

(a) oncein5 months (b) oncein 2 month

(c) oncein 6 months (d) oncein 3 month

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

How often should the warden conduct regular hostel
meetings with the student?

(a) whenever they feel like (b) once a month

(c) onceinsemester (d) onceinayear

A wordern is oppointed on how many students?
(a) 40-60 (b) 60-80
(c) 80-100 (d) 100-120

For Girls Hostel how much percentage of management and
teachers reserved for females

(a) 50% (b) 75%

(c) 35% (d) 25%

As a Hostel Warden what is your primary responsibility?
(a) Handling academic affairs of the students

(b) To manage the finances of the hostel

(c) Organizing extra curricular activities

(d) To ensure safety and well being of students

Which deficiency test conducted for girls on regular basis in
the hostel ?

(a) Phosphorus (b) Vitamin A

(c) Iron (d) Calcium

What are the benefits of hostel to students?
(a) Sense of cooperation (b) Discipline
(c) Self dependency (d) All of the above

What is the main objective of hostel life?

(a) Conduct extra curricular activities

(b) Availability of sufficient time for study and research
(c) Companion spirit and spirit of living together

(d) All of the above

What are things being given for the entertainment of
students in the hostel?

(a) Valley ball (b) Badminton

(c) T.V. (d) All of the above

Who is not included in hostel management committee?
(a) Deputy warden (b) Secretary
(c) Warden (d) Principal

If any group is not following cleanliness norms, problem
will be solved by which official in the hostel.
(a) By meeting of Students (b) By Hostel Superintendent
(c) By Hostel care taker (d) By warden

A suggestion box is setup in the hostel who controls the
complaint box?

(a) Intra hall committee
(c) Student committee

(b) Mess committee
(d) Management committee

The data contained in the cumulative record card should
be.

(a) Extensive (b) Accurate

(c) Usable (d) All of the above

Consider the following statements and give correct answer.
Statement I: It is necessary to maintain healthy lifestyle
and healthy environment.
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Chapter

1

Verb

Verbs have traditionally been defined as "action" words or "do-
ing" words. The verb in the following sentence is rides:
Paul rides a bicycle

Here, the verb rides certainly denotes an action which Paul per-
forms - the action of riding a bicycle. However, there are many
verbs which do not denote an action at all. For example, in Paul
seems unhappy, we cannot say that the verb seems denotes an
action. We would hardly say that Paul is performing any action
when he seems unhappy. So the notion of verbs as "action" words
is somewhat limited.

KINDS OF VERBS:

1. Finite verbs 2. Non-finite verbs
3. Transitive verbs 4. Intransitive verbs

1. Finite Verbs: Finite Verbs are those verbs that have a definite
relation with the subject or noun. These verbs are usually
the main verb of a clause or sentence and can be changed
according to the noun. They are used only in present and
past tense.

She walks home.

- Here we see that the finite verb is walks and the pronoun is
'she’.

She walked home.

- Here we can see how the verb changed/modified to change
the tense of the sentence.

2. Non-finite verbs: These verbs cannot be the main verb of a
clause or sentence as they do not talk about the action that
is being performed by the subject or noun. They do not
indicate any tense, mood or gender. They are used as houns,
adverbs and adjectives. They are also used to form non-finite
clauses which are simply dependent clauses that use non-
finite verbs.

Non-finite verbs are of the following three types:

(@) Infinite (b) Gerund (c) Participle

Infinite verbs: An infinitive is formed by using the word 'to’

before the verb in its stem word. It functions as a noun,

adjective or adverb.

Ex— (a) He was made to clean his room.

(b) Shalini loves to talk.

Gerund verbs: A gerund is formed by adding —ing to averb. It

functions as a noun.

Ex—  (a) Swimmingis very good for the body.

(b) Smoking is prohibited in the hospital.

Note: With the following verbs/ adjectives/ phrases 'V, *ing

is used after 'to’.

Ex— Verb+used to, accustomed to, averse to, with a
view to, addicted to, devoted to, in addition to, look
forward to, object to, owing to, given to, taken to,
prone to.
Ex— I. Heisaddicted to smoking.

II. lam looking forward to meeting you.
In other words, after all the prepositions (including
'to’), ifa verb comes, the verb has to be in 'V +ing'

@

(b)

Ex— (a) lamlooking forward to meeting you.

(b) Heis given to drinking.

(c) He is prone to making the same mistake again
and again.

Participe Verb: A participle is usually formed by adding —ing

or —ed to averb. It functions as an adjective.

Ex— (a) The singing bird was the main attraction at the

event.
(b) The injured man was waiting for the doctor.
3. Transitive Verb: Ifa verb requires an object after it, it is called
a transitive verb.
| saw the dog.
(the dog - direct object)
Lee ate the pie.
(the pie - direct object)

4. Intransitive Verb: An intransitive verb is one that does not
take a direct object. In other words, it is not done to someone
or something. It only involves the subject.

He laughed.

(Laughed is an intransitive verb. It has no direct object.)

He told a joke.

(Told is a transitive verb. The direct object is a joke. You can

tell something. You can tell a story, a lie, a joke, etc.)
MODALS

A modal (like can, must, should, etc.) is a verb which is used with

another verb in order to express an idea such as possibility,

responsibility, compulsion, etc.
ForEx— (a) You must come on Wednesday.

(b) You should bring this book tomorrow.

A modal is always followed by the first form of

verb.

For Ex — One must obey one's elders.

USE OF MODALS:
1. Can:

©

Note:

‘Can’ is used to denote "ability".

ForEx— | can run as fast as you.

‘Can’ is also used to denote request.
ForEx— Can | use your pen?

Can is also used for giving 'Permission’.
ForEx— You can use my pen.

'‘Could’ is used as past participle of can.
ForEx— When she was younger, she
could run 10 km and not get without
tired.

‘Could’ can also be used to show possibility.
ForEx— Alot of money could be saved.
‘May" is used to denote possibility.
ForEx— | maycome tomorrow.

May is used to denote "permission’.
ForEx— You may come in.

'‘May" can also be used for taking
permission.

2. Could:

3. May:

E-2
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2

Tenses

TENSE
|
| ! |
Present Tense Past Tense Future Tense
S1mp_1e. / Progrgsswe / Perfect Perfect
Indefinite Continuous Continuous

On the basis of time of an action performed, we can divide
sentences into the following three tenses:

(i)

Present Tense

(if) Past Tense
(iii) Future Tense

Again on the basis of state of an action performed, we
can further classify each tense into the following four
parts:

(i) Simple Indefinite Tense

For Plural:
— Sub + V, + Obj (Affirmative)
For Ex - They play cricket.
— Sub + do not + V, + Obj (Negative)
For Ex - They do not play cricket.
— Do + Sub + V, + Obj + ‘?’ (Interrogative)
For Ex - Do they play cricket?
— Do + Sub + not + V_ + obj + 7
(Interrogative - Negative)
For Ex - Do they not play cricket?
Note: [ is treated as ‘Plural” in Present Tense.
For Ex - I eat dinner at 8 O’clock daily.

Uses:

1.

To show Habitual Actions
For Ex - (a) He goes out for a walk every day.
(b) My father visits temple thrice a week.

[}
1
1
1
1
1
1
1
L}
[}
[}
1
1
1
1
1
|
L}
1
[}
L}
1
1
1
N . Conti : 2. To show General truth/Universal truth/ permanent
(11) Progressive/ Continuous Tense h truth etc.
(iif) Perfect Tense | For Ex-  (a) The sun rises in the east.
(iv) Perfect Continuous Tense ' (b) Wate r boils at 100°C.
: 3. To show imperative sentences.
Present Tense 1 For Ex-  (a) Always obey your parents.
This Tense expresses an action that is currently going | (b) Do not play on the road.
on or habitually performed or a state that currently or 1 4. In exclamatory sentences which start with ‘Here’ and
generally exists. We can classify present Tense into the | ‘There’
following four parts: I For Ex-  (a) Here comes the train!
(i) Present Indefinite (Simple Present) : (b) There rings the bell!
(i) Present Continuous (Present Progressive) 1 5. In newspaper headlines and commentary of sports.
(iii) Present Perfect : For Ex - (a) India launches a satellite.
(iv) Present Perfect Continuous ! (b) Sachin hits a boundary.
, 6. To describe the events that occurred in past in a
(i) Present Indefinite Tense 1 dramatic way.
This Tense is called Present ‘Indefinite” Tense because in : For Ex - (a) India uproots the British Empire.
this Tense, the action is simply mentioned and nothing ! ) (b) Alexander defeats Paurus. )
can be said about its completeness. This Tense is used to L 7 Thfs. Tense is also used to express professional
express an action which occurs on regular basis. ! activities.
Structure | For Ex-  (a) A barber cuts hair.
For Singular: ! . (b) A.confectioner sells sweets.
—» Sub + V. + s/es + Obj. (Affirmative) ,  (ii) Present Continuous Tense . .
! . 1 This Tense is used to express action that is currently in
For Ex - She writes a letter . progress
— Sub + does not + V, + Obj. (Negative) ! '
For Ex - She does not write a letter. 1 Structure
— Does + Sub + V, + Obj. + “?’" (Interrogative) : For Singular:
For Ex - Does she write a letter? | — Sub +is +V, ing + Obj (Affirmative)
— Does + Sub + not + V_ + Obj + ‘7’ I For Ex - She is singing a song.
(Interrogative - Negative) | — Sub +is not + V, ing + Obj (Negative)
For Ex - Does she not write a letter? 1 For Ex - She is not SIHglng asong
1
E-5 Adda247 Publications For More Study Material

Visit: adda247.com



(iv)

Note: In future perfect Tense, when an action is
expected to be completed in near future,
till/by are used before the adverb of

future.

For Ex - “by tomorrow, till next week, by

Monday”
Uses:

To show an action in which ‘when’ or ‘before’ is
followed by present Tense.
For Ex - (a) I will have completed this task before
she comes.
(b) He will have reached school before
the bell rings.
Future Perfect Continuous Tense:
This Tense is used to express an action that

— Sub + will not have been + V, ing + Obj +
since/for + Time being (Negative)
For Ex - Will not have been washing clothes
for 3 hrs.
— Will + Sub + have been + V, ing + Obj +
Since/for + time being + ‘?” (Interrogative)
For Ex - Will she have been washing clothes
for 3 hours?
— Will + Sub + not + have been + V_ ing + Obj + since/
for + time being + ‘?” (Interrogative - Negative)

For Ex - Will she not have been washing
clothes for 3 hrs?
Note: Future perfect progressive denotes

continuous action while future perfect
denotes completed action.

continues upto some point of time in future.

Structure:

— Sub + will have been + V_ ing + Obj. + Since/
for + Time being (Affirmative)
For Ex - She will have been washing clothes

for 3 hours.

Exercise

For Ex-(a) By the end of this month, I will
have been travelling for 6 months

(Continuous action)
(b) By the end of this month, I will have

travelled for 6 months (Completed
Action)

Directions: Read each sentence to find
out whether there is any grammatical
error in it. The error, if any, will be in
one part of the sentence. The number
of that part is the answer. If there is no
error, the answer is ‘4" i.e. No error,
(Ignore the errors of punctuation, if
any).

1. The questionis (1)/so complicat-
ed that (2)/it could not besolved
immediately. (3)/No error (4)

2. Ragesh finished his work (1)/
just before you came to see him
(2)/ at his residence. (3)/No er-
ror (4)

3. Rakesh asked me (1)/why was 1
angry at his remarks (2)/which
he had not made deliberately.
(3)/No error (4)

4. If I would have spoken to my
father (1)/as you spoke to me
(2)/ he would have beaten me.
(3)/No error (4)

5. Foolishly Dhananjay threw (1)/
some water on the electric heater
(2)/when it catches fire and he
got a shock. (3)/No error (4)

10.

11.

12.

13.

The enmity between the (1)/ two
groups had reached a level (2)/
where reconciliation has become
impossible. (3)/No error (4)

If Deepak had been with us
(1)/ from the beginning (2)/we
would be much happier. (3)/ No
error (4)

As soon as Sujeet saw the tiger,
(1)/ he run (2)/and climbed up
the tree. (3)/No error (4)

Rakesh has already gone (1)/ be-
fore the (2)/roof fell down to the
earth. (3)/ No error (4)

The film started (1)/ before we
reached (2)/because we were
late. (3)/ No error (4)

When you will find out (1)/ any
solution to this problem you will
become able (2)/ to finalise the
project. (3)/ No error (4)
Whenever you are coming here,
(1)/ youbring alot of (2)/ sweets
for me.(3)/ No error (4)

A misogynist is a person (1)/
who is hating woman but a phil-
ogynist is a person (2)/ who

14.

15.

16.

17.

18.

19.

20.

loves woman.(3)/ No error (4)

Now-a-days he teaches physics
(1)/ because the teacher of phys-
ics (2)/ has been absenting him-
self for a month.(3)/ No error (4)

‘It is high time (1)/ you are start-
ing this work.” (2)/ my friend
said to me.(3)/ No error (4)
Many of my friends (1)/ wished
to come here today but (2)/ none
of them arrived yet.(3)/ No error
)

She says that she will take (1)/
her umbrella (2)/ in case it will
rain.(3)/ No error (4)

When I will be thirty (1)/ most
of my friends (2)/ will be above
thirty five, be sure. (3)/ No error
)

This is, indeed, (1)/ the first time
in my life that I hear (2)/ such an
interesting story.(3)/ No error (4)
Before the alarm (1)/ had
stopped ringing (2)/ John had
pulled up the shade. (3)/ No er-
ror (4)
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4_ Subject Verb Agreement or Syntax

For Ex— (a) Neither of these two girls is clever.

(b) Either of you was absent from the class.

Rule 6: Sometimes words like "Somebody, Everybody, each,

nobody, anybody, everyone, everybody, nothing,
every, anything" are used as subjects. In such case
singular verb agrees with them.
For Ex— (a) Nobody knows about the future.

(b) Nothing is impossible if you have

determination.
(c) Each boyis good in Maths.

In English, the basic structure of a sentence is as follows: ! Rule 7:

'Subject + Verb + Object' :

Now, for a sentence to be grammatically correct, the verb must :

agree with the subject. In the other words, the verb used must be ,

in accordance with the person and number of subject. :

For example, look at the following sentence |

(a) Shivam writes a letter (Singular verb is used with singular : Rule 8:

Subject) 1

(b) They write a letter (Plural verb used with Plural subject) :

In order to attain grammatical accuracy some rules must be :

followed which are as follows !

1

Rule 1: If two subjects are joined by 'and' and they denote two , Rule 9:
separate entities or ideas, plural verb will be used : )
For Ex— (a) Ravi and Rakesh are playing. |

(b) You and Amit are late today. :

Rule 2: If two (or more) nouns or adjectives are joined by 'and' 1
but they denote a single person/thing idea, singular :
verb is used. 1
For Ex— (a) This black and white tie is mine. :

(b) Bread and butter, is my favourite !
breakfast. :
(c) Slow and steady, wins the race :

Rule 3: If the subjects are joined by expressions like i
"alongwith, with, as well as, In addition to, besides, :
nothing, unlike, like, no less than, etc" the verb that
follows agrees with the first subject : Rule 10:
For Ex— (a) Rohan as well as his friends is playing. 1

(b) They along with their teacher are going :
on vacations. 1

Rule 4: If two subjects are joined by ‘"either...... or, :
neither......... nor, nor, or, not only............. but also" the 1
verb agrees with the subject nearest to it. :

For Ex— (a) Neither Ram nor Rohan is coming today. :
(b) Not only Shyam but also his parents were
present in the wedding. :

Rule 5: "Neither of, either of, none of" etc. are followed by
plural noun and singular verb. !

: Rule 11:
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

If following expressions are followed by uncountable
noun. We use singular verb with them.
"Most of, Half of, some of, enough of, plenty of, a lot
of"
For Ex— (a) Some milk is needed.

(b) Most of the work has been done.
Similarly if following expressions are followed by
countable noun we use plural verb with them.
"Most of/Half of, some of, enough of, plenty of, a lot
of"
For Ex— (a) Some questions are difficult.

(b) Most of the boys were absent.
"More than one" is followed by singular countable
noun and singular verb.
For Ex— (a) More than one boy was absent.

(b) More than one man was against the
proposal.
= But, "More than two/three/four" is followed by
plural noun and plural verb.
For Ex— (a) More than two boys were absent.

(b) More than ten houses were damaged in
the flood.
= Similarly, sentences with following structure use
plural verb.
For Ex— (a) More teachers than one are present.

(b) More books than one are new.
Following expression are followed by plural noun and
plural verb.
"A large number of, A number of, A great number of,
large number of"
For Ex— (a) A large number of cows are grazing in the

field.

(b) A number of boys are playing cricket.

= But, 'the number of' is always followed by singular
verb

For Ex— (a) The number of children is twenty.

(b) The number of passenger in Metro is

increasing.

We use plural subject and Plural verb with the
following:
"Many, A great many, A good many, Many of, A great
many of, A good many of, both, several, various, Both
of, Several of, various of, few, a few, very few, few of,
a few of, very few of"
For Ex— (a) Many boy are absent today.

(b) A great many actors are coming.

(c) Many of the girls are taking part in the

contest.
(d) Very few students are hard working.
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Exercise

Directions: Read each sentence to find out
whether there is any grammatical error in
it. The error, if any, will be in one part of
the sentence. The number of that part is
the answer. If there is no error, the answer
is ‘4’ i.e. No error, (Ignore the errors of
punctuation, if any).

1.

10.

11.

12,

13.

14.
15.
16.

17.

He is one of the richest and (1)/most
generous men of (2)/ the town. (3)/
No error (4)
Computerand(1)/telecommunication
has(2)/developed of information
technology. (3)/No error (4)

Bread and butter (1)/are essential for
(2)/ one’s life. (3)/No error (4)

Every man and woman in a family (1)/
are responsible for (2)/ the upbringing
of a child (3)/No error(4)

Either she (1)/or | will pay (2)/ the
fees. (3)/No error (4)

Nothing but (1)/trees were seen (2)/
in the garden. (3)/No error (4)

Each and every (1)/man, woman and
child (2)/were given food yesterday
evening. (3)/No error (4)

Five hours are too short (1)/a time
to judge (2)/ one’s character. (3)/No
error (4)

Many a passenger (1)/have been (2)/
taken to the hospital. (3)/No error (4)
The teacher as well as (1)/his students
has committed (2)/ this mistake. (3)/
No error (4)

The behaviour (1)/of the students
(2)/wasnot proper. (3)/No error (4)
Twenty miles (1)/are not a great (2)/
distance in these daysof rapid travel.
(3)/No error (4)

A group of (1)/people were (2)/sitting
at the street corner. (3)/No error (4)
The economics (1)/of the situation
(2)/has been discussed at some
length. (3)/No error (4)

The teacher along with his two sons
(1)/is doing research (2)/ these days.
(3)/No error (4)

Either of the two boys (1)/are eligible
(2)/ for selection for the post. (3)/No
error (4)

Forty kilometers is a big (1)/distance
for me, (2)/ | am unable to walk on
foot. (3)/No error (4)

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Physics is an important (1)/subject in
(2)/the modern world. (3)/No error
(4)

One of his (1)/friend was injured (2)/
in a railway accident. (3)/No error (4)
I met the chairman (1)/and the
director who claims to be (2)/ Ram’s
father. (3)/No error (4)

Four miles beyond (1)/ that pasture
was seen thousands (2)/ of cattle
including some lambs. (3)/ No

error (4)

Itis noticed that the elite class have no
soft (1)/ corner for the downtrodden
who are the (2)/real victims of the
present social set-up. (3)/ No error
(4)

Is there any difficulties (1)/ in
disposing of this gorgeous building
(2)/ built on such a spacious and
beautiful north campus. (3)/ No error
(4)

The request of the workers’ union
that their wages should be (1)/
increased were supported by (2)/ a
vast majority. (3)/ No error (4)

The publisher says that there is (1)/
many important details to attend (2)/
to before this book gets printed. (3)/
No error (4)

We should not forget that we have
a right to criticize but (1)/ at the
same time each of us (2)/ have to
remember the duty also. (3)/ No
error (4)

One of the biggest industrial houses
in (1)/ Chennai is on the verge of (2)/
declaring a lock out. (3)/ No error (4)
A body of volunteers have been
organized (1)/ to help the faculty
members (2)/ in their attempt to
raise the funds. (3)/ No error (4)
Everybody among the businessmen
(1)/ were enjoying drinking when the
Manager of the hotel (2)/ was shot
dead by the thief. (3)/ No error (4)
Although these building are in need
of repair, (1)/ there have been
much improvement (2)/ in their
appearance. (3)/ No error (4)

Not only the doctor but also the
nurses of this nursing (1)/ home

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

is very kind and helpful (2)/ to the
attendants. (3)/ No error (4)

There appears a number of new
faces in the hall (1)/ and | really do
not know where they have (2)/ come
from and why. (3)/ No error (4)

The available statistics indicate that
the population of the world (1)/will
double in about 30 years and human
life will become (2)/ more and more
miserable. (3)/ No error (4)

What were once glorious forts (1)/
are now nothing but piles of (2)/
rubble. (3)/ No error (4)

Whether you should get married (1)/
now or whether you should remain
single all your life (2)/ are your
personal problem. (3)/ No error (4)
Does his daily struggle (1)/ for
existence leave time to ponder over
(2)/ international affairs? (3)/ No
error (4)

Either the manager (1)/ or his
assistants always try to misguide the
public (2)/ regarding the vacancy in
the factory. (3)/ No error (4)

In our college, it was obligatory for
each of (1)/ the students to buy (2)/
his own instruments. (3)/ No error (4)
Those athletes who did not adhere
to the rules of athletics (1)/ was
deprived of taking part (2)/ in the
summer Olympics. (3)/ No error (4)
Not Shawn and his friends (1)/ but
Harry has surreptitiously taken (2)/
your photographs and sent them to
her friends. (3)/ No error (4)

An ability to shrink and reduce
oneself to a tiny form and reverse
the process whenever desired (1)/
belongs to the realm of fantasy and
is heard of only (2)/ in fairy tales or
tales of magic. (3)/No error (4)
Neither Rajni nor Ragini (1)/ were to
take to her heels (2)/ when they saw
a cobra lying at the gate. (3)/No error
(4)

None of the five players (1)/ who
have been given a chance (2)/ to join
this team play confidently. (3)/No
error (4)

Adda247 Publications

For More Study Material
Visit: adda247.com



12,
13.

14.
15.
16.

17.
18.
19.
20.

21.

(2);
(2);

(3);
(4);
(2);

(4);
(4);
(2);
(2);

(2);

Use ‘is’ in place of ‘are’.
Use ‘was’ in place of ‘were’.
Example&
A word of collective Noun + of + PCN + SV
Example&
A panel of expert has come.
VN
SCN SV
A panel of experts have come.
VAN
PCN PV
A panel of experts has come.
VAN
(A world of collective noun)
PCN SV
A ban of musicians have come.
A band of musicians has come.
Use ‘have been’ in place of ‘has been’.
No error

Use ‘is’ in place of ‘are’. Either/Neither/One/ Each/ Every /

anyone/everything etc. take singular verb.
No error

No error

Use ‘friends’ in place of “friend’.

Remove ‘the’ before the word ‘director’ because both
Nouns (Chairman and Director) are used for one person
(Ram'’s father). So article(the) is used before first noun.

Use ‘were’ in place of ‘was’.

' 22,
123, (1);
' 24, (2);
1 25.
' 26. (1);
1 27, (4);
' 28. (1);
129, (2);
' 30. (2);
131 (2);
:32. (1);
1 33. (4);
' 34. (4);
1 35. (3);
' 36. (4);
1 37, (a);
(x) !38. (4);
(v)139. (2);
' 40. (a);
| 41, (4);
' 42, (2);
1 43, (4);
|44, (a);
1 45. (4);
| 46. (1);
1 47. (2);
| 48, (1);
' 49. (1);
1 50. (4);
1

(1); ‘Have’ should be replaced by ‘has’.

Use ‘are’ in place of ‘is’.
Use ‘was’ in place of ‘were’.

(1); Use ‘are’ in place of ‘is’.

Use ‘has’ in place of ‘have’.
No error.

Use ‘has’ in place of ‘have’.
Use ‘was’ in place of ‘were’.
Use ‘has’ in place of ‘have’.
Use ‘are’ in place of ‘is’.

Use ‘appear’ in place of ‘appears’.

No error.

No error.

Use ‘is” in place of ‘are’.

No error.

No error.

No error.

Use ‘were’ in place of ‘was’.
No error.

No error.

Use ‘was’ in place of ‘were’.
No error.

No error.

No error.

Use ‘have’ in place of ‘has’.
Use ‘has’ in place of ‘have’.
Use ‘were’ in place of ‘was’.
Use ‘were’ in place of ‘was’.
No error.
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11

Commonly Mis-spelt Words

About three-four questions(based on spellings) are asked in
all kinds of SSC exams. Some spellings always confuse the aspi-
rants so it becomes necessary for the students to cover as many
spellings as possible. So we have decided to cover all the import-
ant spellings. Students need to go through all the basic rules for
spellings and practice the questions based on spellings.

Spelling related questions are always in the following question
forms-
(a) four words are given out of which only one is correctly
spelt. (So three spellings will be wrong.)

(b) four words are given out of which only one is misspelt.
(So three spellings will be right.)

In both cases we are asked to find out the correct spelling.
So it is required for the aspirants to practise questions based on
spellings and study all the rules of spellings.

Some rules for spelling
Rule 1
When the suffix ‘full’ is added to a word, one ‘I’ is removed.
Example-
(i) faith + full - faithful
(ii) use + full - useful
If the word to which the suffix ‘full’ is added ends in ~II’ one
‘I"is removed from the word. Example-
(i) skill + full - skilful
(ii) will + full - wilful
Rule 2
One syllable words ending in single vowel + single conso-
nant double the consonant before a suffix beginning with a
vowel. Example-

(i) beg + ed - begged
(ii) big+ er- bigger
(iii) trim +ing - trimming
(iv) sad + est - saddest
Rule 3

A final ‘y’ following a vowel does not change before a suffix.
Example-

(i) obey + ed - obeyed
(ii) play + er - player
(iii) pray + ed - prayed
Rule 4

Words ending in silent ‘e’ drop the ‘e’ before a suffix begin-
ning with a vowel. Example-

(i) hope +ing - hoping
(i) live + ed - lived
(iii) drive + er - driver

If the suffix begins with a consonant, ‘e’ is not dropped. Ex
ample-
(i) hope + full - hopeful
(ii) sincere + ly - sincerely
Some Exceptions to this rule are-
(i) True + ly - truly
(i) argue + ment - argument
(iii) nine + th - ninth
Rule 5
Consonant ‘I' is doubled in the words ending in single vowel
+ ‘' before a suffix beginning with a vowel. Example-
(i) repel + ent - repellent
(ii) travel + er - traveller
(iii) quarrel + ed - quarrelled
Rule 6
When the suffix ‘ing’ is added to a word ending in ‘ie, this
is changed to ‘y’. Example-
(i) lie +ing - lying
(i) tie + ing - tying
(iii) die + ing - dying
Rule 7
Words of two or three syllables ending in single vowel + sin-
gle consonant double the final consonant if the last syllable
is stressed. Example-
(i) permit +ed - permitted
(ii) occur +ing - occurring
(iii) control + er - controller
(iv) begin + ing - beginning
Rule 8
When the suffix ‘ous’ is added to a word ending in ‘ce’, ‘e’ is
changed to ‘i’. Example-
(i) space + ous - spacious
(i) vice + ous - vicious
(iii) malice + ous - malicious
(iv) grace + our - gracious
Rule 9
Afinal ‘y’ following a consonant changes to ‘i’ before a suffix
except ‘ing’. Example-
(i) carry + ed - carried
(ii) happy + ly - happily
(iii) marry + age - marriage
(iv) carry + ing - carrying
Rule 10
Words ending in ‘ee’ do not drop an ‘e’ before a suffix. Exam
ple-
(i) see +ing - seeing
(ii) agree + ment - agreement

o

ie

E41
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Part - VII

General Hindi




Chapter

01 3

ST 3T 9reg foerd & 7 q'er orsx A ifw eatyr o gy rsw Y wgeT eafq s # fere, St afvad| A 8, 39 | wEd § st
ST &7 oTex 3| H Ao e e 9reg a9 & a9 ST afads grar g, 39 afSr wgd 1= R T oreal T STelT-7enT Fh ugel i
TIE FAT o afg-fo=ag Fgamar 2l

wifer ersg At Al (- TH + AT (&) &g = Sfer “Saast av: & * 9 & & Jog7 a7 uw /@iy ' orsz fAeo= grar 2

qfeyr F TRATET - “qui-Teem wfeer:” =0 a9 F SIqET, 1 A0 & A T Gl Fgd g FAATA &7 a0 & T F S {FH I grav g,
Y qleer FEd &1 AU T FT T F2d gl

ST - o+ o - A1 TRT T AT (A+ o) TR "o 27 T4 2, o TH Wi 2

grfvr iR - ‘a7 T @Rar” statq aurt i Meear #r |@fgar wgr ST 2

T T F ATeqH F97 AT FT I8 F TI7 F07 § A FAT &, SH-3FT & o TAT T% & T &l HATHL T 47 377 ‘U= I 7 (9707
EEL

ATYT A | S &1 7% AT 9753 A9 H [Herd g a1 T9q 95 67 s eaf o 3 92 &t ugelt eaf™ & a1 & |1 afiaaq grar g 59
wfer g g1 = whwar # wft ugett, 3 godt ar wdt [T eafaat # =g 1 Rafaat fer wwe @ gt 8-
(F) Tt eatr | giads, fohq q@dt eafa 7 7180, 99

o AT + FAFT =JATIHL

o WE+IF=AER
(@) T4 sl § aRad, g geet el § 7=, st9-

o ffY + Zor = Rifrer

o T+ A =&
(37) ST UF TEE T At § gREd T, S9-

o I+ ATH = I=ZATH

o TT+IF =A%

CIERERCT

Aot 3 ifor ol et % e 3 St &, o Foft e i ofore 6 o 7 At &1 e v A e e e o wmer 2l & o el et
1T ST % I Trg! S0 Tl 1 ST S-S (67 S(1av &, 79 39 Hig-fA=w Fad & J9-
=t = = + eft

AT = IF + AT

qfey & i T 2-

1. T Aoy (7] D)

2. =S |y (g )

3. farert |feen

1. T gfee- (3 €18

U S AW - A, T, S, K| I g T T §| T F AT T AT G T 6 F A i F2 2
IR

A+ 3 = 3T — T + ST = [oqTael T+ T =T -GN+ T = ALT

T+ 3 = o — B + st = ATy I+3I=%-g+3r=9Fr

M+ o = o — AT + T = AT I+ % =3 - g + 3 = e

M+ o7 = 37 — o= + oo = A= T+ I =3 - qY + IAF = TLAA

T+ T =% —FA + 9T = FAT=T THT=F -+ T = A

THIT=T - +TA=gaq o+ T = H - WG + FT = A

T+ T =T WL+ TR = WS

T G F 5 9T g &-

(i) < Tfeer (ii) goT = e (iii) Ffx afeer (iv) Tor Tfeer (v) srfe =iy
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et afey
fet-g Ry - ARt & are @@ a7 = o 77 et & S @ gar 8. 59 et aftr w=a €

1.

ot T A BT STHT- IfS f3emt 3 wger o S arg | ‘S STrar 1\ au, JTAT au, 9r=aT a7 STET I, T, F, , F g1 Al et

A ETSATAT ;S

A + AqHA = TAEA Fq: + 93 = A5 : + g¥ = AAIEY
qq: + T = 9 + T = IR I: + S = A
e + A = Tl T + T = gAY Fq: + T = FqU
T + g = qUr HA: + I = AT

Rt &1 TET SIT- T Bt & w5t of, o &1 Sea Fils O €67 1 ST a72 § o, 3, 3, ST auf, 47 9o, qf=at auf 471 7, T,
, 9 H FFIE T am et 7 T g AT 8 -

= + swar = [Rerem
: + g7 =Rda

f: + g = f_da
aeft: + are = smefiate

g + START = ZEAT

Rt &1 ‘o @Y SIT- AT Faet o uget FE, = g1 i g § =, @, AT 9 &1 v fowRT &7 9 &1 1T & S-

7 + o =FRfera
7+ w1 = Rese

o + ATTAA = TRATHA
g+ =0T = gEia

et & O B IAT- et ¥ uge 2,3 AR AR A, 9,2, 5,0, % H A F1E A9 27 AT (6T B W EY AT E; -

A + Fue = Aewue, M+zw=fgw 7 + %t = Aower
g + THT = GLEFT R + o7 = fRregor
st &1 |’ & ST - At % &g afe @ 71 | g1 ar st &7 /' Er v §; S4-
1 + a9 = [Aeaw, HA: + dT = HAET T+ JT =g
A+ 9 = e TH: + = THES 3 + HIgH = TRRH
3t T A9 g1 STHT-
(i) =fx st 3 arg T 21, a7 et O 81 SITaT § 37 SHE 98 7 =Y 4 gl AT 8 -
A+ Trr = i
&+ = de

(ii) =T FOoT & Tt ‘o a7 'ar g1, a7 oY [aent & a2 &rs {99 @& g1, 7 f&aent | 1 Sar §; q4-
qq: + T = FquA
et & afad 7g) gT- A f&aw & 0@ o7 S A AT § F AT T E Al (A8 § TRAdT Aol ardr; 8 S6-
T + A = TT: 1A
I + =3 W
AT + AT = A qqT

d C S w
1. Eﬁﬁ%ﬁm IR H A A HIHAT | 5 T 9. rmﬁmg‘r Hfa-fa=sE g
g &7 ~ (a) T &+ (b) TA+ITT
() TR (b) @ Oy () TR (@) Tt
() F=Te  (d) T

(@ Ferff (4 SR o | 10, R AR AR

2. Sz o F Ad AR P g | 6 Teewre A A feuw e A e (@) BRI (b) Rl
() TT+ET  (b) ITHEA AT | () fmfm  (d) f o
(0) ST+ (d) ST+YT (a) HRTH+HAFTT (b) HEST+HAFTT 11. ‘Fyfw 1 afe-Eegm g

3. Fe#aadrabymaigss- (c) FEg+EF  (d) HEd+HFL (@) Fg+3e  (b) TY+3IRE
(a) TT:+TT =TT 7. ‘Rreremar i s 9t gt () Tg+3FF  (d) TL+HTR
(b) AE+UT AT (a) Feemr@T  (b) Frgeran 12. ‘offaq #1 @fa-fAa=se grm
(c) AT:+gT= "X (c) FrrTeraT  (d) P (a) ofig+ =g (b) AT+ *&g
(d) ST+ATH S=aTH : (c) r+kg  (d) Mg

4. AT A A 8. wATTIE F HA-fre A - 13. “Fsg wsar £ &fa 2t
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Chapter

04 qITIaTHAT 958

TSI 9real & o1 § HHHAT BT 8, Sve gH TATAATHT 9753 AT Tderss Fgd & | [Beal # To0H TA1ar=1 9763 g1 T8 910 7 &, S
aeha o Bt § o1 g | BVt § g qaiHarHT geat i o\ gl

TS ST 3 T AT FX AT M58 UH-GAL o TAAATHT HgeATd &, =6 qHETT off F2d & |

TATIATHT & &I T &-

1. QU QAT ETHT o~ T 97e%, ST S Fat o Sr2rar TA7ad T2 &7 a0 F0d 8, o, IO T AT 9068 FgdTd &, se— fog- foar

2. AU qATAATHY @~ T 973, ST A 372 FT qrer F70, Foheq sTaaT=ff 1 a7 a7 8; o701 TArdar=t 1 FHETT o058 Fgand 2|

TaiaET=t UF gt osat d 3%

1. 9FEETHT - U orea-ag ST fheft U g1 97, % AT 91 F o1 T Tohe F3A o (o0 TIF g1 &, TAAGTHT FgelTd 2l
IR0 F orT - Hes, aTsit, g, T, <feewr, Fora, 3pa, TG, @t oeal 7 Ig a9 ST F [0 T g0 g1 aq: U asl
o1& "AVET & TATAATAT 11| ST foheft wa g1 e, a1 (A=) a1 1 7 o7l ¥0% &9 3 Forw SIeRT-31e T ersat a1 YRt 3 srar
g, vHT Rfa # 3 7T ersx wATHATHT o5 B B

2. GHTTT 9155 - 719 | & T g "0 oY Yohe T ITAT 9053| IS0 Ta& T A1 TR ST S’ 9753 7 F4T 372 7 q1 Tt o1
T 9T5aT H THE T gU Fgl STTUAT "HIST | 1q: g "3Pd" T FaE == O 3696 Fuiiq I3 T8l T8 Fgl S 14 o0d Fl
ST frm-fore ersal & Safaa o StTar 8 9 S # Hieh, AToh, 84, T, SreeT, dua, ==, T, 9at ot saqre Srer sfiw
Tsft orsg 'S’ F TATIATAT G| A: ZH Fig Tl g (9 STal (ohelt a1 (=), T T 97 &7 el o FqATT g ST IHeh o7 ol
AT % forw, o 9re3 &1 Y= o SITaT g, 9% oe ATt 958 Fwgerdar gl At T UE gt ara (A=), aeq, 9w -
e AT | A7 o6 TR arsat & STHT ST € T8 IR S0 a1 SdT & (o0 Y3 954l & q¥g § THT T iaar=l gii|
Tt 9% U o7q ST 77 g T Tt s (), aeq a1 9 3 ored &1 ohe e et rss et S ataarey oft gt 2
o 5T a8 9rs3 Fae o T7% F % forw yoeh &1 a9 qHER g S ard (=), awq A1 W i - orsdt & ST Smar
g T TA % ToIT eraal it G=T § TI<F g1 a9 dal oIea TATIATHT Tl

TTAT Tl |, THTT 372 < ATl S =1, 3AT8T KA1 0l U gl GHEAT SATAT & T TATFATHT QTea A7 37 [ qg 3TF g1l &, S leh &l
ATH T, AT Z10F rerT o7 & A8 7 § WIF gid &, A TAaTHT 9158 gid gl

aq M
o 3 — e, o, Tt Tg= o G — FTA, TI, 9, T, 3Ne, 7, <IaT, A=
o 3T — FHAT, AT, T, T&9 a4, T, 35 o NI — ST, AT, THTOT, TS
o 39T — WY, TR, T, s7a¥a, @ve, |9 o IS — I, BT, TTHY, FHIAT, FIT

o I — g, ATTAE, TATAH, FUT, UTeard, 3, A, [0 G — 3, TAAIT, TATSA, THAATY, TIA-AIT

EIEED o T — fRerereft, =, e, ae, ywraw
o 3= - T, 9, 79T, Aige™
T g
o TSN — ATHATHT, SATHTEAT, FTHAT, ATTHT, STHUST, T, SHT, | o T — AT, T, THSUE, T, T, Tw
AT, FTed, AT o TUT — TATH, STATT FT AHST, FUST, TLAT

TG — ATTHATHY, ATATIA, AT, I, I 05d
TSATAT — AT JTLAT, USAT, ST, 97 2@ T

o IIU-TH RN, TH qTE, U, TH AT H
o T — ATE, ATHATHT, T=a, v

TR — AT, AT HTL, T, el o IHMART - [Aewdedr, egaar, aaremar
‘idl‘-l—d‘{ﬁl(,‘i(%l(q ia ﬁéﬁ

Adda247 Publications For More Study Material
Visit: adda247.com




05 AT AgfEEt

ATIT AT SATHAT T ATEAH g WIOT § €A1 & 9158, 953 & UE, UT F qTFAT9T U ATFATIT & U7 AT o0l LT gt gl o7 qeaeT
#T g2 & 9T 7 ATIF TG & ATHT FgodATdT gl AT TAAT | GAT, qaa1H, 90 B, st ot | qeafead a1 o Y1 it
ST9rfaat &1 qdt 2l

TH T Al (AT I I Aigd (&aT TT &, S e The & —

1. g7 graeT stqrfaat

FATFT HIAAT H FAT Tl YT’ T &7 TR AT G 8- AT HAT Teal T TANT TAT FTTTH AT 9758 FHT TN

Crd

o 3TTeh 5T KT GHTETH 9t 7T (3T)
o AT TR % ALST T 2 (=T)
o U FEAT AAATT il TR X FAAT 2 (8T 97)
o TEAAT & TN H €ohe AT BT 2 (aTET)

o THA TH TEIF HT (ohadT WIT 92 foram? (3ter)

2. g Traedt srqrfeat
AT % T 9¥ YT g9 ATl A58 TAATH FgedTd g1 ATFT | IAHT TIRT F2d TG0 IT=d qragm=1 Taet Argul f{ear § gaar

Traeeft st weRT i srerfaat St STt 8

L

o IEA AT TR (39)

o Aq g TE FATE) (=)

o FHIZU, ATTHT AL F AT F1H &7 (=)

o FALH AT T (T=)

o WIS TG FLA FHl AT AT (Freft, =rgm)

3. farreror weaedl srerfat

TOToTT T AT, AT AAAT AAATHT TART FXA F AT H AF ATFAT 1 ST 8, FAAhT FIThor AT siaed g
-

o INITHI HeATF AN H qA T AT qaqT T aT1 (Te)

o 3T TNT AYSY T & (ST T-31T+T)
o TEl Y feaefim arrdr o (ESEEKIR))
o T ATAF T FTL-ATC A & & (@)

o ST H QI dTa fa@Ts faam (EEURETR)!

4. TR Tl srqrfeat
TS | ‘A7 AT ST TLH AMALTF gl AT FT JTAT g FAT A AT TAT FH S BT &1 greeate qu=a) o et § #at +
F=T ToraT ERIT i o Rt & BT o6 & s MY, SHeT 419 TET ST AT Ul

-

o T HS UL I & (T= =)
o Ferufa 7 IuTIET Rt #i (F=T)
o IAZ FAULHT TV I TNT B (7T¥)

o TF THIS STAHL AT TTI (TETHT)

St & AT AT 2, e A s e g ()

5. ST FFERT A& AT (Fa, 91, WY, 7))

T AT % AT W Igd Ty THEAT g1 Ad: AR | TRl a7 orsal 7 AR Agl FAT AR, A -
o THATA T YT 2 (FaT)

o TE T ATH AR 2 (erg=)
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T ST | A AIAAT agd 99T & FAT o 7ol ¢ [ Brevity is the soul of wit STITq &feraar gfa it AT 2 |
THT STETY 9T I Short and sweet HTeTT T WY THTHSE ATFITLT FHT TANT AT STAT | A 9531 & S 9T I3 TFH UH 9058 AT
TART 36T STTaT g, St faferg sef-arfsia grar 8, a1 w9 stfers Toraernet Ua Araqel = a7 gl ST & [T g7 I8 aTeFieT ofd 8-
g STHIA Sad Fg AT 997 T 211 THE T T AR UH 052 AT TIN Fd - SHEY, AT, STIAT AT, Al g9 THAd & 1o a1 &l
STer ST=Et avg el AT 21 39 i arsat § Y S8 orsa T ST qatferd 9 gl

T S ATHAT | AT
FTHFT ST ATHRAT § 37 o ST T2 AT F7 6 AT T agd d< gldT g AT AT arraier | a HH 8-

TSN o forT U oreg

Ho CICy] EIET I
1. | ors2 &1 ag 9 =9, 5o" v e S sr2 ud qur | 5T 9qg #7 98 9reiE w9, Sew ud FEn i e ud g
Afr=riF ST 21, IH a9 Fgd gl Fferef=e gt 2, ST ATFITeTr Fgd gl
2. | =TT oreEt T AT WY 2T 2| FTFATL 9TeaT T THE BT &l
TS U QU7 A=Y HT h FLadT gl FTFATIT T AT UF F TTAF ATAATH Tl =7<h F2aT gl
T ® RAT e 2 FrEgier § BT Agl gt afed g, SATETaY aTEaier Faed
AT FFIIATEF T 2 2l

RERLCEIC2IERTE:

S| 9 foaret 7 srfaspe & forar g1 — stfersa
FE GAAT SIT ALFHTL T AT H AT BT — SATeg=AT
TRt g S iega Faw — sttt
AfaTiEd AT — FaT

g =t foreeh ofa F gy amet 7 o g1 — steggr
T & e &ft — seer

% o T T2 TE ATl — e ardi

TETE F U T T STHIT — ATreahT

e grare {9 sifeha & — sregearer<ear
el T 9 ART STt Tt Hame w7t 8§ — siaq/aeam
ST foreft &I 7 9T 7 31 — ST/
STERT 3rew 7 36T 13T 87 — SATea

TSrEeRT 7 FEl ST T Bl — A auAh

e 919 T/ 7 21 1 aE — Afdae

ST FefY 9¥aT 7 81 — |Y

ST AT gaT 7 &1 — 77

TSTERT 9aT 7 ST qoh — AT

STT |TLT T ST Toh — STETeE

ST = ST 26 §H § 7 g1 — STAThE

STT AT ST o ST & AT g1 — STATH

S ATa 7 7 o6 — et

ST QAT 7 B "o — AT

ek sfe (JTee) &1 94T 7 81 — TS

Sreer s Y Tt Afea 7 a7 — sfafr

FHY % A Tgd ST ATAT el — ST Taal

5| I=qs o o5 sreama g1 — srerearit
TSTERT ATYT 1T J0F TEqT &I — AAGa+1T
AATIF TET—AET F Fal T3 AT — AAATH
T RN Tg ATAT — I

ST T8 STVHT 8T — SISt

STT &TE H STPAT g1 — 3Tl

STT Sfei T F ST ST 8 — =Y
TSrEeRT TaT 7 2 — AT

ST A ATAT — SANTTHT

AU F TH AT ATAT — FISST

St gt e 1 — o

ST T 7 AT £ — 3t

ST 379 =27 AT RRfa & stermr 7 fRam ST |7k — =
ST 79T 1T & o A8l — e
AEFLTFRAT & ATIF TLATT — AT

AT faega 7 M1 — A e

TEA T ATHI T — AT

e it wgT ¥ gy — s R
HIHT &7 S Ioesd — ST

ST &t 9T BT — ST

et TEATE /T IGT T AT TE — AT

AT 7 AT T FT Tl ATAT — rgeaeft

ST ATST T & T TEAT g — FIdq

araer ST AT srafer 9 @] g1 — Tearaer
Srees A # #rE Wi 7 87 — srAfea
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TRTAT 95 qAT: STTAT WTHT T 277 &, ToreanT 9Tieadh 31 IaT - T¥ATH FHeAT|
HETa #T Freward

HEa<T YT & Aq&T 7 3T gl
TETT o AT T B 2
HETE T ATHAT 31 A, fatere srf fora sirar 2

KIEAIA

TRt 3uTea, oot a1 TRt 9% sremia w9+ grar g
FATHRITRAT FTHTISTR ST S Srael =TT FLd T qATETH
AT 2

T e oA I o

o TIAT/AT AT (T AT, SR FAT) — | 9 M
EEUIRINCESERUE

SIT-30T ol F FHT (TET AT A7) — H SHae 9% FAT
SRT-3T Bl 7 HAT 2T 470

ST O¥ ATeAT (T M 2T F AT F@AT) — J AN a9
TG FT G UF T S 92 ATear g

BT ST (F9T 9¥ T70E FT 3AT) — (AT 7 937 Jgrar
A HT ATET AT 9T, T Fel ST 36 IT6 TU T R[T fomm
f&=m

S I HILAT (TRATE 7 FIAT) — g AT ATEHATE @i qHaAam
g, § UH 991 FT ]S T AEAT g

AqIEAT T AT (HFe # T=4T) — fAarsit it g7 F a=
stafeat 7 e 72

STEIT AT ([ SR I1ET <AT) — § TEad g, a8 q3 e
TEI AT TRATI

FE o ZT T AT (FT e A =it T <) — e
T TO=tt, Sier 3 g1 92T o9 T2

e H AT (W RO — I = 9§ T T8 T, g3
T HET FAY H @)

A % ey g od TheAT (TEAT &1 FH FIAT) — T FW
faTTE 3T 21, F oTF  die g oy TR gl

oTe? H FeAAT AT e (R § 7=y w7 s — arefy g
AT Tal g, HIT ATAAT & H T2 5|

o SATHITHAT T Ik TAAT AT AT Fgl 14T B
HETEU R ATHIRAT | 7T
o TETAL HT FAAH YA I 2Ial & qT

ATHIT<h T TFq TIRT BT 2

o TFTAT ATHATL g TAT ATHITE ATHT
o TFMEAY H FA, AT 3T &YW & I&T TRAAT I ATAT &

TAT AR T TFET ATRATIT T2aT 2

O RIFET SR TR (STET-TT TgAT) -2/ qT qaahriiar
H feaTe @ 8, U ag A =St oo T 99Tt g

g AT (AT FEAT) — T ST, et =1, 7 e forar 8, s
TS 2

At T FToTer (Teda o) -Saet Iy SEeht 3tfe T Frste a7
2l

g GAAT (AT A1) -(oeer 79 § g F 91% =9 9t
F AT i i AT |

st TEeT (TR EAT) — AT GeoheT TE1 I=T 8, 7 st
T

ST T HISTA AT (TEL AR FE AAT) — ITE TS Tg T
ST AT TSI o0l G T FHIoTel I o T
AT | G IAAT ([ T A AT BT THT) — [ T goohd
TEHT W AET H G 3qL AT

gt § FAT (e 979 " AET) — I T A 98 FFH
T, ag 931 sitEt § Mm@ gl

AT 9T 9 TR (ST IEahT) — T A qolg-a6Ts F
FT T T T T ST AT L A {2l |

ST AT AT (T THT 2AT) — Forar erger gar a1 ey s
EESUEAREN

ANT § FEAT (I TTEH H STAAT) — I AT 397 & (oI
ART | FaT FT TIW T2 2

ANT R 92 T3t GIEAT (Tgd 8 e T 7 HT T@HT) —

S F AT (@T-THT A WIeT T ZMT) — = § A= GreT
TaT g, T off =% & o1 Tg! ol

AT Ioc] AT FIAT (ITAT FAAS FHRAAT) -T TS TAH
TN STAAT & [ 6T Al A=, STTAT Ioe HTeT Fd &
AT W § AET TEAT (AT I9T F HIY AT -FHIE A
e, TS 2T A, 20 & AI=1 &1l | 7|

TERT ST JATT B AT 1T Fgd gl a9 § 0 |7 ATgal g-
ST T 9% T3t Fiad 2l

R SNTRT. THTLT S@T (FRIET G270k G gHT) — L AT
TETAT | ST AT THTT 3&d 5l

-5 3 TAT (TET TSATT) — Tl T GATH & & I1T
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ATTST =TT

‘SOtSa’ T 3 FIAT & ST 9@l Aal AT 1| T FohelT areaans i [Fas & qg! o1 S1a1 g1 T8 FelT, A=A, T, Ariaed a7 i,
et ot fawer &1 21 Fhar 81 U U rErier & Sy 9@ ST 81 389H aieredt 7 aTiEE SATTH gt § a°7 39 7T 37
TTHT AT FT ATATERA 63T STAT g1 THH TLHATAT T 2wt Teaar o Af9=rt it awar agdr gl

SITST AT T ST TT T A LA o (oI 0 AT Tl T &4 TEAT SaT9TF o

1. 3T 0 Trier T &A= F qEAT AR
2. T HT T2d THT H&T aTd1 H1 &1 H &A1 A0

3. T U AT T GATET TEd gU GHAAT AT, FF(1h O T T | &1 7 T ST & A1 AT 1 T&d G0 TIT9T 06 AIeaeh §

L
IT o S od 98T gt fSFea &7 AaeTramT el

N oo o

AT & AT 9 90 FqmET AUl
. I AT9AFAT BT, qT TF T I TATT FT I8 |

fiefeh T qATa- sfie Ja 99y =41 @-

1. ofre 5o faw & "&fea g =z

2. oftd= wfers, srhde qAT |4120e g1 AUl

3. ofis & srq=ee & Hafaa 9 ard o S =R
4. oftd= =1 faw q= oo & stferes 9t gAT ATt u)

Tt Terter w1 of s T ST v Sffeie wRrier % o A7 3 # AT wgar 2

fAer: A= fRT 10 Terver T eAIEE iR ST S uT et

T o S A0

FE AT AUT 0 gl JTd &, ST ALST SETAT AT, ATHTT ST TH
AT it STEeq | SN STaT-28T & [0 TG agd Sl o
FHA | AT IHH AT T IA AT o, I ATGH F qTS f ST 1
oT| = AT 39 AT T=AT °9m Aiagiaat FT IeieAT 92ar o
ATGA IHH (T sraeTeh 3 o7, T -2l ag o1+ o7 | 91ge
#T e T TG A TN TIT 3 ef 3T T2 FT =7 g |
FAT AT THARSI %00 ATALT EAT & 976 UH &1 376 | 36 g5l
& T 2T a9T0 EET % 39 AT # Fa9 HAogq ST "9y
UTARTIE &7 Zaaral & ST &7 ‘a7, ST 2= qi AT gfgar &
FAT AT| TS AT 3TN FET| SHA €Tq F FIHATT a1, Forefeh I8
TTe o o1 oY ol o, F FasTft gu| <aareit & TSI a &0 Aqeai
TSI & AT @Eraar ot g=dt off B aeeat % 701 & o
T  3TET | AT F ITH o1 =t off, 9% 77 & o7& 72t |
QIR HTE AT ! 1 AT 6 I F FA1 =ist o A et gul
e =i oT9=T STt & F=aT =T AR g, a9 g1, T4 21,
T BT, T g, Alg o &l o arsil 7Y &A1) S e FaT|
AT ATAT Fvgehi o, FILQHT o, TAT A, THT o, THATE ATLATE]
Tiagr® & e F=E-aY °Te 9% THieT §, a8 Ta! A1 gl 79-
T AT & TEHEH T AT Fh 3TN o0l A A T2T 2

1. T F ATHTT, A THIY ST, FIh 3T -
(a) sk far=me ofF (b) s
(c)asr T OEECERSICEE CEEIP]

2. TR % ATATE, TE-8T AT Al SATST T ATereh (e 8-
() TATT AT FEAT SAIT THT 9T
(OERBELIRES
(CERRIERIEIRES
(d) T8 & & &l 9T
3. TR ST, ATEl a9 Tgel TS [ ATGHAT =l AFTTHAT
zafery off, FIifF a8 T
(a) T STEIY T GreAT qahal T AT
(b) FAT T I IT TS THAT AT
(CEESRERIERIEIRCA SR E I
(O ERIEEIRCIEE:ELIR
4. T F AT, wwﬁm%w%wﬁﬁ
(a) e (b) gt
(c) &t CIkR
5. TTEATET % AT, THAESIT o0l AT T o 37T &
(a) AT F = AT, AT AT
(b) T F T AT FeAT T =T
ORERIEESES EI
(d) IT=E | I AT AT

TATL-2

AT G & GL-A0E ANET 6 ST T2 fora@r g 3 21
THITTT AT e G ot 5g] 7 Tal #a%T Ugur T ST SrEme
TS T AT SUTHAT FT g AR TO0F TEIETT 6 ATl
=T &1 wfadres fraT g1 amaa & afew sw=met & aftq g &
e g F THUS AATAT GT TATT gU &1 F e Fafd &
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66. T H TH aTq Y A Tohg FhaT AT B B
(a) TgT 1 e Tdese 3 it Sraegar Tt 2
(b) I 3T TH-IT KT =it T et a7 o 2
() TI STHTH & g Faet HITST o0l 719 & & @eld 7|
(d) 5T AT Z8-51 = &1 &+ =R
67. faeti= agi & et fasmer #ea 87
(a) ATAATSAN (b) FSATHFAT
(c) ATATISIHRAT (d) =T
68. TG T TAATHT HoIT &l IATLA o (7T FAT FT Tl 872
(a) =T FT AT THTT 37 < AT AT T
(b) ATTARM T FIT ATHE & TFd 5
(c) AT Z&T-F2T FH & &7 AT U
(d) 372 =T ST &7 o= Teveror =T AU
69. 'S H AT A FT 37 g
BERSEIEIEEECEIRRIE
(b) T it FIAFT HT 97T T@AT
(c) ST § TH qLE % HAGIL hl GIST FHTAT
(d) srfia & aTE § ST
70. 'THIA' 9167 T TRTT T 9153 872
(a) = fFaT=E T=T (b) STTfAET= |47
(c) fareroor (d) ATEETF T

.

TETRA- 13

ISATIAE AT 6T THATT o AT T g A7 YA AT H7 foam
2| fodr wergs & vew aw £t ofts 7 7w o 7 &Y s i
ST oTT<h T TSI HT [@AT| T oTi<h il ZZHTA T qheral o
s, =, e, s arfe asfy St 1 Uar et 3 fRior i
ST &1 o 9T T ST AT o a9 A9 o §AT
T ITITA el TAT 9T <97 I TG FAT FIET SAGHHT FHle o [oIT
ol TRATOT 3 219 9 397 7 f3er 2 it fRom & & a9 o
21 =9 AT T TART g 97 907 3901 1 ATHTIr FTAaT T
TEITRT o7 T0T | &7 T o 1 Ghsi1| =Hioh o8 O T: qei
A 2907 F TUTEAAT H Tg- q-F A1 T | q: g o0l et

H 3T v oft srfear g1 S, S a2 SeEer yartEa
a1 TRt g1 gHEifery Rersfiseor £ TemTe 99 W@ g aF T &
fmtor & S s sroemefY T, 3 3 FTr e Tae 3w o
T U E, [k =T & srae fEeer s et agar g1 9w
oft wYeort it TrFATT TAT I 9T T AR el o AR Gl ST
72§l T YATHI F qA § UF qIFL A i< o f@mmer v w7
T T ZT &
71. TH T HT A F2T FT 82

() 3ITEF 3T FAATET FT AT

(b) e s ereat fY B

(GIESIRRECRC-EAREE I EED

(d) Frersfiszor i fasg enfeq

72. FAFHT AT A et 1 AT s SR e &7
(a) ST
(b) sTHT=T #T fasT 7
(c) sregfaawar =
(d) T =ert ¥ qTEEaTe Tiaeadt F

73. TEH-AH I AT 91<F T TAT JTTT 8 gal?
(a) ST § g wa=he farereiar &
DEREEIEEREISEIRRERET
(c) srafeenT, =4, foae e wig f7 wfaerar &
GEEBEIEIREERE:)

74. T2-T2 397 g TR orey A T T 82
(@) 3ra=Y-3rafY |ATeH H FHT A F 2T A
(b) ST TETEAT FT TART FIT F 3297 F
(C) STAAT-3TIAT FTHTL SATATE T F I2eT o
(d) TTeET R S F FTOT

75. SEHF g AAF T AATAFRRT BId 8, FITh-
(a) ST <9 o 9T =41 &1 § THE &I 31 &
(b) STfErRTST STHAT ST Ieht qXIRY T2 T Tt
() TT 3971 § WETHTT 37T S[@HT hef STt &
(d) FIT ZeT T HATC 27 ST H AT AT S

s

(d): 31T 3T T F T AT A

(b): STo FHT 9T

(O EEEERERIERIEIREIAE LRI

(a): g

(b): eI F T T FeAT T =T

(a): HWGEad ¥ T-AR 6T T=AT &7 LT 2
(a): TEE FT 2

(a): Foor AiRE oI F FH A

(b): T &H F FAH =TT A For

10. (a): T9H THY T AT TE

ot erfeRerTett i et Trgt & sroT serfaai

FACTATET ATHAT o6 TZT A= 10T ohT Sl HehoaaT
FT YT F9H I 2

© ® N s Wb R

11. (b):

12. (c): FATATLATE F JE= AREATAT ST § T FAIT FT THEHT
AT | J8@d F4d F TS5 &, gaaqefie 95
FE AAT-ATT THT AT 2

AT qA: AT | S[ET ATHAATSAT T TATT ST HLEAT
TATA IS o 2

AT TEH(T AT AT cd | I G &9 § 37576 &
H FEAT TS AT B

AT 1 5 afee Aiiged § AT et 2

TR | AT o AT % 978 A Ud sda Arfaat
F WeT AT UF 'Aqq oAt v swtarAta gam

g g¥ F [FAFE F T AT AEAT FT TEA To
I

ETo T THTE foardl 7 9 2 T ‘AT 912 1 o7
SO AT T AR g

13. (a):

14. (d):

15. (b):
16. (a):

17. (c):

18. (d):
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